e w0 o NOTE: ALL SHUTTERS IN TOWER SWING IN, UNLESS OTHERWISE SHOWN . e
Coe ALL SHUTTERS IN BURN ROOM & ATTIC SWING OUT, UNLESS OTHERWISE SHOWN ‘
L, + C T . . ‘ 2”7 CONCRETE COVER BY OTHERS é
. Lo LL 118" o — ‘ }

| 2.70;% Ay :.70.: L o 1 _ ‘ POUR STOP ANGLE #380009 */ ! ZFLOOR PANELS E

I n t r I I ;I FASTEN ANGLE TO JOISTS — 6" x 17 18 ga.
L 9
i \ @ A H W/#12 x 3/4" SD. SCREWS N SPECIAL FLOOR J0ISTS
3070 ROLL-UP DOOR #760600 AT 2-0

FE | en eavee oo | s St o mace oy 6" x 3" 12 go. "CEE"
o THIS SIDE OF WALL ONLY (STUDS #330209)
T e p gt ammon . TYP. 2ND FLOOR BURN ROOM CONCRETE FLOOR EDGE TRIM DETAIL
= . WITH WESTEMP PANEL é SCG'eZ 1 1/2" = 1’_0"
N S o o B R auRN Rot shen o H ) FLOOR PANEL\
S 1w pasmse e A 8 x 1 18ga N T
[ x| A ..l I._l
i 7 i Y= 4o i §352730 (LOGATED BELOW CONCRETE) T T _L;_LJ_
~ e|© 1 r I AT — h ,\ /
= Al n g _L
S T i 7 K \; T | 3
ac of = || B = L
S § 2ls Do nex e ooz S e B z
% - A  (STUDS #330209) ) J 8" x 21/2 CEE 3 =
r r o
L = &
L \ FIELD CUT FLOOR PANELS AROUND RESIDENCE FLOOR pANELSl / N i - &
- STAIR OPENING ; e [ A N FLOOR PANEL SPLICE 4\/ 5 &8 g
\ - a PANEL JOINT J BACK PLATE, 6" x 1”7 26ga. #382200 s g g Y
w
't T T T I FLOOR PANEL SPLICE PLATE £ ,82°%
k| k| k| k| k| 1 ———— k| h| h| 13 P h| 1 2 1 —1 h| i " CEET R~ F 2 e ¥ o
scale: 1 1/2" = 1'-0 - 8
t >
J FLOOR PANELS g § 3 E 2
- 6" x 17 18 ga. \ I ;ggggﬁ
| oo o 4 2Ezg43
‘ -0 {.2-8 1 | FASTEN FLOOR/ROOF PANELS TO 2w faob 2
— JOISTS w/#12 x 1 1/4” S.D. SCREWS RN $zd
v ow o Y Vo ) » X ~
-4 -4 -4 1220 N #760602 AT 2'-0" o.c. (EACH JOIST) & F 8y Eq
= 6" TYP. -+ o & 4 E 2 E
o . EFEfas % &
46’0’ 14'-0
600" L FLOOR JOISTS -
8" x 2 1/2" "CEE"
. Q
SECOND FLOOR PLAN TYPICAL FLOOR PANEL FASTENING DETAIL e g§
scale: 1 1/2" = 1'=0" - ]
SCALE:  1/4" = 1'-0" ol & 8
. e . = g3¥
2t 50 £ for REFERENCE ONLY Sl 8%
-_— = X o
" T T T p . LE § § g
P+ t L DES'GN I—OADS. Egj
T Ll R
- F ©
. bodl® FLOOR LIVE LOAD 100 PSF LICL_‘ p8E
2-0" __4'-0" _|2'-0" Tz
‘ T _ S I ___ ROOF LIVE LOAD 100 PSF -
LINER PANEL #360002 I T T T o ul
. SS?SDSF#?QE@NTL @/ - i WIND LOAD 25 PSF FASTEN TRIM TO PANELS ~ E
30" 3070 ROLL-UP DOOR N w/#12 x 3/4" S.D. SCREWS
#‘}:“ERSEN%F ﬁfﬁm&u UNER PANEL #360001 —————— | #760600 AT 6”|o.c.
\ -::; THIS SIDE OF WALL ONLY . FASTEN TRIM TO STUDS FLOOR EDGE TRIM #380001
2870 PLYCO DOOR (UNDER STAIR) = r A w/#12 x 3/4” S.D. SCREWS /
TO CONTROL fooM n\ P ; s A #760600 AT EACH STUD
L ié | =<——INTERIOR FLOOR SUPPORT STUD WALL (2_)1 L =
"l d o L i FLOOR PANELS
° I fﬁ ~ n \NTER\[?RURD'\‘F ?{g%’rj ﬁ LINED WALL STUDS ————————— 6" x 1" 18 ga|
& \ % N i I i WITH WESTEMP PANEL ] 4” x 27 20 ga. "CEE”
o ? ? —=— LINER PANEL #360002 l — L FLOOR JOISTS T
%E d THIS SIDE OF WALL ONLY K A L i \ 8" x 2 1/2” 16 ga. "CEE" E
e i I ] TYPICAL FLOOR EDGE TRIM DETAIL _,
b \ ) scale: 1 1/2" = 1'=0" [y
o)
5 e . FASTEN TRIM TO PANELS > )
J I{ /w/#u x 3/4" S.D. SCREWS . o © <
P #760600 AT 6" o.c. 2 O o
.I il il k| hl hl L r ! 1T ﬂI bl 17 L,—|]£ il 1 —— hl 1 I I L — I 1] M FLOOR EDGE TRIM #380004 % g g % gg
Q o O s
FLOOR OPENING TOE ANGLE |—= l 8 C & g"'
#399000 (INSTALL WITH T Date
1'-4" 1'-4" 11°—4" 12'-0" HEMMED LEG UP) . - MAY 14, 1999
o . FLOOR PANELS g W
46'-0 14-0 FASTEN ANGLE TO JOISTS 6" x 1" 18 ga. Checked by
w/#12 x 3/4" SD. SCREWS —
60'—0 #760600 AT 2'-0" o.c. N FLOOR JOISTS — SHOWN
8" x 2 1/2” 16 ga. "CEE” i FTE-34/9479

FIRST FLOOR PLAN TYPICAL FLOOR OPENING TRIM DETAIL et
SCALE: 7/4” = 1"-0" scale: 1 1/2" = 1'-0" A7 Of 2\3 J




2'-6" X 3'-0" BILCO

20"

(=]
A
©

ROOF HATCH #390400 % Lo uood
o 2-0 % 4'-0 2'-0
— 4 [ s e
- = F O\
TOWER ROOF PANELS 3-0" B 3070 ROLL-UP DOOR
/ s D s i
/ L
: r N\ raxe TRIM
7N , #380820
ROOF CURB X d
e #390204 oS |, éi
o 4 o fO/’ RE/‘_ERE/\/CE O/\/L )/ . 2 =t a _———RIDGE CAP | #382100
B N =] Il
= = R [ o s | v~ = &
g g DESIGN LOADS: T ow S L= ¢
h : q =
FLOOR LIVE LOAD 100 PSF S : %o . :
\ - 7]
(8) RAPPELLING RINGS ROOF LIVE LOAD 100 PSF b ROOF CURB ———— RESIDENCE ROOF PANELS ———=- g f
(FIELD LOCATE) ¥ — d #390204 #351305 [ 13
WIND LOAD 25 PSF ’ I
= . Bgs
° TOWER FLOOR PANEL § §' é §
1 #352550
P r! ﬂ § ”’I k1 i | L2 2 I‘ g g E ’f =
N = = =
40 } 40 } £-0 NOTE: FIELD CUT ROOF PANEL AROUND OPENINGS AND RAILING POSTS. = o 2 g % x g
12'-0 34'-0" : Jj S é % ; §
< w9 b oz
. o w B 1 S
46’0 3-0" l 60 | = E < g 8 3
TOWER ROOF PLAN g3 E
12'-0 34'-0 = = I 5 o
SCALE: 1/4” = 1-0" o g a
ROOF PANELS =0 2gdE2e
36" x 1 1/2” 18 ga.
J TOWER FOURTH FLOOR AND RESIDENCE ROOF PLAN
FASTEN ROOF PANELS TO CE—Ty M
L\ = = Wl joisTs w/#12 x 1 1/4" S.D. SCREWS SCALE: 174" = 1-0 ) 2
—0" S
J 6 TYP 2 #760502 AT 2'=0" o.c. (EACH JOIST) z § i
o
. B ' Ll gl
L_2'-8"_| 8-0 8 L = AT
! il FLOOR JOISTS S| £T4
- T T T El 8" x 2 1/2" ”CEE” 2 5 ¢ 2
O 5 O
Lo ], TOWER/RESIDENCE ROOF PANEL FASTENING DETAIL e ¥ Y ¥ A P —— L) 2EE
© scale: 1 1/2" = 1'=0" L N
L o o x § 8 2
2'-0" 4'-0" 2'-0" 3-6" 4'=4" 3-6" = g
, f L . _ i CAULK TAPE #760700 o0 FLo0R PANEL L 5 ;:':, =
’., T a J J J J B J J J J J J J J J J J 3-0" [}
@ T 1T T T | ya o
] q [
3070 ROLL—UP DOOR o ri&)ggg%:g%éa;ii:%é@uoa B
_ LINER PANEL #360015 = > .
B s 7 TOWER /RESIDENCE ROOF PANEL OVERLAP
) B i ] scale: 11/2" = 1'-0" jx FLAT WASHER 4591003
D ) Ll B
8 r [ z; S‘ —~—— LINER PANEL #360002 INSTALL COTTER PIN #502960
= THIS SIDE OF WALL ONLY i 1
I =T 2 2 H\ :352?;(;*005 FLOOR PANEL DRYWALL (BY OTHERS) ROOF/RLOOR JoT
o|® 3040 TOWER SHUTTER #392100 T NAIL TO BLOCKING (NAILS BY OTHERS
. (SwS WTo ToWR) 1 ( ) _RAPPELLING RING INSTALLATION DETAIL ¥
7% 20 P T —
ol q 2x4 WOOD BLOCKING (BY OTHERS) N.T.S.
7/N/ I’ A |7 SCREW TO CURB AT 2'—0" o.c. (SCREWS BY OTHERS) E
(] = - wn
L, D ] " END ANGLES #390351 ‘ o ‘ L_'u 2
m TOWER FLOOR PANEL & i ‘ ‘ a z
B #352550 o HAT CHANNELS #390350 SITS o W
3-8 » ON TOP OF FLOOR PANELS ; . = P S
a o =< = = o
j s ] 1 s ! 8sd |
'I L £l AL L L Ir L L L L ! FI L 0 L L L FI L L L L L L g m 'C—> g gg
F H 3-6" 44 e | e 1 s — | & g 88 =S
o ‘ ‘ 5 o & éu_
T >
0 ] ’ % FLOOR PANEL ROOF JOIST e Date MAY 14, 1999
P s Drawn by
3-0 - 6 -0 | SPW
? FASTEN HAT CHANNELS (#390350) TO FLOOR PANELS f Checked by
120 34'-0" w/ #12 x 3/4” SCREWS #760600 ===
AT 1'=0" o.c. (AROUND ENTIRE PERIMETER) SHOWN
46'-0" Order No. FTE-34/0479
TOWER THIRD FLOOR & ATIIC PLAN SECTION THRU DRYWALL CURB Sheet N
SCALE: 1/4" = 1'-0" scale: 11/2" = 1'-0" 2 of 23 )

N revisions




Y REVISIONS by\
W
WALL PANEL —>t
\ 67 x 3/4” 18 ga. WALL STUDS WALL PANEL SPLICE
L 4 x 2" 20 go. "CEE" BACK PLATE, 6” x 3/4" 26ga.
WALL PANELS ——> —<— WALL sTUDS b ’ ) -
6" x 3/4" 18 ga. 4" x 27 20 ga. "CEE - L L ;
FASTEN WALL PANELS TO STUDS FASTEN TRIM TO STUDS LSJUXD 2\/,\{%; TZACCKHAS’*&ESOOO [ [ ~<— WALL STUD
w/ #12 x 1 1/4” S.D. SCREWS w/ #12 x 1 1/2" D / ga- 4” x 2" 20ga. "CEE”
7 #104121 AT 2'=0" o.c. (EACH STUD) - o 2
K SCREWS #104121 N %(A ( A
IS AT 2=0” o.c. (EACH STUD) ? v v
By FounpATIoN N PANEL JOINT \ WALL PANEL
i SILL TRIM  #380120 Y$ . 8" x 3/4” 18qga.
TYPICAL WALL PANEL FASTENING DETAIL TYPICAL SILL DETAIL WALL PANEL SPLICE PLATE
scale: 11/2" = 1'-0" scale: 1 1/2" = 1'-0" scale: 11/2" = 1"'-0"
-
| s :
WALL PANEL WALL P/AN”EL | 2 £
» » 6" x 3/4 18 ga. | = =
6” x 3/4" 18 ga. L STUD WALL LINE 1<—STuD WALL LINE g ) Z
FASTEN TRIM TO PANEL | ® 8 =
FASTEN TRIM TO PANEL . \ w o e 3
; 12 x 1 .1/4" S.D. ‘
w/#12 x 1.1/47 SD. T J/WT' CORNER TRIM - #380420 éé‘tTogN%GA%LnggngERS vsvc/;jEwsX #104/121 @6 oc. & ‘ 2 §I é §
I 7, Tt o
(S((Z:ERNEXVESR #E;gﬁing@PGANEOL-)C- e (CENTER OF EACH PANEL) g s i g >
3" X 3" X 3 LONG 16 GA. ANGLE CORNER TRIM  #380320 1 % Q % g §
a 53 = - 3
TYPICAL CORNER TRIM DETAIL 12%28¢8
INTERIOR CORNER TRIM DETAIL T 2z g 8,
scale: 1 1/2" = 1'=0" scale: ZEIgHg
g5 % < S 2
H ©® 3 =&
T Eox I
5 5 8 W B E
o & s E 2 &
RAKE TRIM RAKE TRIM EEa & %E
#387220 3/8” DIA. BOLT (TYP. EVERY 10-12") F307220
EAVE AREA
| BRACKETS FOR 2X4 FENDER DETAILS .
#387120 o 11/2 = 1-0" ;ngl;;sglo’ION TRIM 4 ’ .
T d sede ] L SHAFT SIDE WALL o o 3
PANELS #367220 Z g tll
nl|l 183
f f (] S ~n
A\ NOTES: TOWER SIDE WALL = gTu
% —— END WALL PANELS —\‘ PANELS #366220 — o X
° U Shectat Tve. 1. WALL PANEL MUST BE FIELD CUT AROUND CORNER TRIM 4 2% g
E R FRAMED OPENINGS 360320 Q & 3
~ 2. TRIMS ARE IN STANDARD 10’ LENGTHS - L 338
NEOC I | | SOME FIELD CUTTING OF TRIMS IS REQUIRED [ 1 E5
Z AL | 3. NOTICE THE SILL TRIM SHOWN IN THE o [ 1 Wil +g3
) R | TOWER DIFFERS FROM THAT OF THE BURN ROOM Sy A Ao NOCR RRACKET 380017 | [ | In 2 ;:; g
N - R
uuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuu g
(3) 2-8" X 7'-0" EXTER|OR &
FIRE ESCAPE DOOR
2
A
SHAFT END WALL 3 [ ]
PANELS #367020 l:l EAVE TRIM
4381520
S I [—I |
1 Y
:O‘ FRAMED OPENING TRIM I
o #381140 TYP. —~— ] g
. FRAMED OPENING SILL TRIM -1 || N
[ BURN HOOH RAKE TRM f I 4 Il o
ED[ #384020 £—— RESDENCE SDE WALL PANELS  —— H ] ﬂ o
] 1 | peesse , / i Il .
- (&) [%2)
. IL\. $ o 3 %
2 O g o N
| — CORNER TRIMS 8 wne= =<
A4 #380320 TYP. 3 g g 8 *5
° 3 o & H
> 2l
- Date
, MAY 14, 1999
L purn RoOM SIDE WALL Drawn by
SPwW
PANELS #364320 7 Thocked By
‘ - 7 r )
Scale SHOWN
SILL PANEL
SOU7H END ELEVA 770N #380120 TYP. AROUND ENTIRE PERIMETER MST S/DE ELEVA 770N Order No. FTE—34/9479
SCALE: 1/4” = 1’-0" SCALE: 1/4" = 1'-0" Sheet No.

AJof 23




REVISIONS by

FRAMED OPENING SILL & HEAD CHANNELS FRAMED OPENING SILL & HEAD CHANNELS
‘I FRAMED OPENING SHUTTER DOOR STOP ‘I DOOR STOP ANGLE #381000
' #381820 AROUND ENTIRE OPENING ' FASTEN  TO JAMBS, SILL & HEADER
FASTEN w/ #12 x 1 1/4" — w/ #12 x 3/4” SCREWS #760600
™~ SCREWS  #104121 ) e 3
SECTION THRU HEAD FRAMED OPENING TRIM e FRAMED OPENING TRIM
—_— #381140 /- L P SECTION THRU HEAD #381140 /WAL PANEL
1 NOTE:
C SEE PAGE 15 FOR BURN ROOM ANNEX -
! SHUTTER TRIM DETAILS ‘
| FRAMED OPENING STUD ] FRAMED OPENING STUD .
L 3
‘ SECTION THRU JAMB i SECTION THRU JAMB g z
| | 3 s
INSTALL END CAP #380220 FRAMED OPENING SILL TRIM/CHAFE RAIL INSTALL END CAP #380220 FRAMED OPENING SILL TRIM/CHAFE RAIL = %
AND FASTEN W/ POP RIVETS #382020 AND FASTEN W/ POP RIVETS #382020 £ 22
WALL PANEL WALL PANEL e 58
g S8¢g
SECTION THRU SILL SECTION THRU SILL £y8¢ f
e Z2 0 F _
24258
TOWER SHUTTER TRIM DETAILS TOWER/RES. BURN ROOM SHUTTER TRIM DETAILS g % 3z 3
scale: 11/2" = 1'=0" scale: 1 1/2" = 1'-0" ERE &
=3
2532 E
<§( £ ox 3 > =
s g 8 o = E'
RAKE TRIM g 8 0 E % §
a o O <
#387220
CORNER TRIMS NOTES: M
4380320 —— TRANSITION TRIM 1. WALL PANEL MUST BE FIELD CUT AROUND
. #387120 FRAMED OPENINGS . 2
s 2. TRIMS ARE IN STANDARD 10’ LENGTHS e 23
AN SOME FIELD CUTTING OF TRIMS IS REQUIRED = 24
PARAPET OPENING TRIM 3. NOTICE THE SILL TRIM SHOWN IN THE % 458
" #387420 TOWER DIFFERS FROM THAT OF THE BURN ROOM = gTy
K* BRACES CUT INTO THE - o X
HEADROOM CLEARANCE OF 5 = 2% 8
THESE TWO DOORS ONLY <——CORNER TRIMS © O .2 A
#380320 - / < 558
END WALL PANELS TYP. |_|_ o g o
\ #366020 ; g 5
| - g 382
i 1 H L e s
\ ROOF CURE —| L SHAFT SIDE WALL g%
\ #390204 PANELS #367020 S ui
—————————————————————————————————————————————————————————————————————————————————————————————————————————————————————— o 2
\ N
RAKE TRIM ——
#380820 ‘F /\ @
i i 7 | |
[ ! ~—— EAVE TRiM  #381520
[ pd o
[ L RESIDENCE SIDE WALL PANELS — 4 I -O‘ T [ I
#368420 Y CORNER TRIMS =
#380320 TYP.
\ FRAMED OPENING TRIMS| T
FRAMED OPENING TRIMS #381140 TYP. °
| #381140 TYP. 5 \ E
L SIDE WALL PANELS FRAMED OPENING SILL TRIM /
@m:m] BURN ROOM RAKE TRIM FRAMED OPENING SILL TRIM — ROOE 8
#384020 #382020 TYP. = <
T i T T i T T i T T 7 ‘\‘ S o S 2
L 5 2
M \ T — 2 o= 3 o2
EAVE TRIM #384220 5 ne s = <
AT BURN ROOM 8 g Q% e
=? 8 8 ' 2 d
3 3 5
bate APRIL 12, 1999
Vi Drawn by
£—— BURN ROOM SIDEWALL —— SPW
RANELS —#384320 ¥ Checked by
R # L Scale SHOWN
EAST SIDE ELEVATION - NORTH END ELEVATION T
SCALE: 1/4” = 1-0" SCALE: 1/4" = 1'-0" Sheet No.

)\4 of 23 y




\_

scale:

T1/2 = 1-0"

4 REVISIONS by \
COLUMN REACTIONS NOTE:
HORIZONTAL VERTICAL 1. ALL STUD WALLS, COLUMNS, AND EXTERIOR STAIR/BALCONY PADS ARE EXCLUDES ANY AND ALL PREPARATIONS
COLUMN (ANY DIRECTION) (GRAVITY)  (UPLIFT) SET AT TOP OF CURB. INVOLVED IN PROVIDING SUITABLE CONCRETE PADS
A-1,A-2 15 KIPS 11 KIPS, 52 KIPS
B-1,8-2 8 KIPS 69 KIPS, 3 KIPS 2. ALL PADS OUTSIDE OF EXTERIOR DOORS SHOULD BE SET AT AND/ OR FOUNDATIONS
A-3,8-3 6 KIPS 56 KIPS, 3 KIPS FINISHED FLOOR. (FINISHED FLOOR IS 6” BELOW TOP OF CURB.)
A—4,B-4 6 KIPS 56 KIPS, 3 KIPS
A-5,8—5 3 KIPS 28 KIPS, 2 KIPS 3. ALL DOOR OPENINGS THAT ARE DIMENSIONED SHOULD BE HELD EXACT. ALSO EXCLUDES ANY ANCHORS REQUIRED TO
(DOOR LOCATIONS NOT DIMENSIONED CAN BE FIELD LOCATED.) SECURE THE BUILDING TO THE FOUNDATION.
60'—0" out—to—out of concrete
8 10'—8 11'—4" 11'—4" 11'—4" 14'—8
2-8" | 8'-0’ L
1 -1
-
R
N =
ELEVATOR SHAFT 5
" PAD SET AT g z
Ny TOP OF CURB =11 7-6 = 3 =
© 5 (1 KIP PER SQ. FOOT) - - g c
“ E © © E Qo o &
) 2'-0"_| 4-0 [_2'-0 g 2 28
<+ [ [ N 223 > © u
‘7 T ‘ i é é g
e N 5Te -~ _ T 4 _ B 4 _ _ _ _ _ _ _ _ ) © | - ® .8 2
@ ole 2-6 j_ 3-0 _t 2-6 '][' i i , i . i H—IF | S EgeTz
= . | 1 1 ; 2’15 1/4 6'=5 1/2 2'-5 1/4 | L I -
- © N I 2 45 2 = @
@ J 7 i e 323
<~ B b 3
- N 101, 3-0" 10" © I N 2 g 5 & E .
Y T T Ny ” cwt o3
i \ Il 2Ezgug
- +r. N r L - - 8 2
[ -
~— LIGHT DASHED LINES ARE T H | S - 23 cd
NON LOAD BEARING STUD WALLS | K | EE Q8w = g
v o S a =
EXTERIOR STA[R PAD — ‘ | ‘ b } fgdbze
SET AT TOP QF CURB z | Il |
| Il
| i i
i I L n
) * 2 9 i I | 0 }
. 5 N = x & Lo LEVEL STAIR PAD | . \ G 2
i 3 S © > Jlg SET AT [ I3 \ > © 3
Q S N = n O ] ¥ FINISHED FLOOR ! g | = 8 d
o ¢ : I ‘ ol §53
“% | | g 1 KIP PER FOOT | U g8
o< | Il AT LOAD BEARING STUD WALLS | - ]
6'—0" | | I | = 2 x o
| Il | O e
| 1 i | L= Egé
- g
IR T ‘ for REFERENCE ONLY |1} | £5 2
| \ U \ L <23
¥ | Y i _ \ x BRE
N | " I |_|_ x ¥ =
= p | LEVEL STAIR PAD | 55" ! 0 | S %
. / SET AT | 3 ’m | S
© FINISHED FLOOR | . ; [ o ©
~ \ g , . , - \ E
‘ | ‘ o -0 L 34 | 4-0 o } S
; ! | ‘ ‘ I %
\ T _ _l _ “Te _ _ _ _ _ _ _ T _ _ _ JiL 1 < ‘
(@D— ; - s | 2k : b IR 1
[ -~ BALCONY PAD [ BALCONY PADS
& SET AT TOP OF CURB & SET AT TOP OF CURB
=y 6-3 3/47 -5 (1.5 KIPS PER SQ. FOOT) (1 KIP PER SQ. FOOT)
9'-0 3/4” 2'-9 66’ -5 |r-4| 3-10"  |r-a| 2-s <+
\ i -1 ™ -1 ™ |
” ’ ”
ANCHOR BOLT PLAN scale: 3/8" = 1'-0 =
b2 . d g
— 1 dia. ANCHORS a 5
™~ 6 1/2" [©] —
= 23/ 23 9 X 117 X 1/2° PLATE " e <—— WALL STUDS = 3 a
- — L~ /4 M . B N 3] o
o~ (4) 1" dia. ANCHOR BOLTS TYP. 4" x 2" 20 ga. "CEE 5 o > &
Y 9" X 11" X 1 1/4" PLATE 2 O=4 W&
N STUD WALL TRACK #330000 3 nes 2T
& " y 2) 3/4” dia. ANCHOR BOLTS TYP 4" x 2" 20 ga. CHANNEL s g = ¥2
H N 3 )2 (2) 3/4" dia. : FASTEN TO FLOOR w/ EXPANSION ANCHORS 8 C® &<
e o @ B & AT 4—0" o.c. AND POWDER ACTUATED FASTENERS [Dete
- X X AT MID POINT BETWEEN EXPANSION ANCHORS MAY 14, 1999
> N - Drawn by
b > © COLUMN CENTER LINES SPW
Ve o " " B Checked by
- 41/2141/2] L COLUMN CENTER LINES 41/20141/2" ©
> 9"*\/ o Scale SHOWN
< FOUNDATION A Order No.
NOTE: SEE ANCHOR BOLT PLAN FOR COLUMN NOTE: SEE ANCHOR BOLT PLAN FOR COLUMN FTE-34/9479
ANCHOR BOLT PROJECTION DETAIL ORIENTATION AND CENTER LINE LOCATIONS. ORIENTATION AND CENTER LINE LOCATIONS. \ V! Sheet No.
TOWER COLUMN ANCHOR BOLT DETAIL RESIDENCE COLUMN ANCHOR BOLT DETAIL TYPICAL STUD WALL BASE DETAIL

J\5 of 23 y




REVISIONS by \

12'=0' @ m 12°=0
8" | 1'-4 1'-4 1-4" | 18 8 108" 8
N N N
N N N
N N N
o o g
oS for REFERENCE ONLY 0G0 ey
+ . e +
e I w0 sean] 0 .
T a T T T T #315159 T w 3
| | | | | | | | E
[ o o % 2 .
| | -~ ol el el ' | P oegt
9% )X )X )Y c Egs
| | 5 T B ©— | e i
5| 5| 2 «* &f S ® &P 5| R 5| £ BE=
N N} - o Oy o Oy o O =) = Fg Tz
) (.} Q o ~—
of B ® EE 2‘8 5 ‘ N‘b%@\ ‘\@2\6\ ‘ §bt>\@\ 5 % 29 E‘; é g 3 z %
i I I I T G iy IR Tk TV k% iy 3 ®ie R0 s 358
$ 44 %3 B : | | | | AR e 1I5E;,
Al N ! Qi ol o Qi a swE 1o §
i g | g g g i\ i et
M NN NN NN W8/x 10 BEAM 25 X252
! ! ‘LOV T RSN Ty - e I — = [ B = ‘5.'_-'
=X &)= @)= )< @7 #315159 T E x T2
| | » %5 o2 oD oD | | = 2, %z
1 W8 x\13 BEAM . » BN ) ) ) | | N o 5 3 2 E
o~ SIS S S £ . ov g ¢k 2
‘ H o #315129 | o |5 | o x & ‘ 4 ‘ @ FEasZ%E
. o AN SN © © © KX VBN RN
(5] ! ) ! N\ ! = = = ! 9 ! A
N i + . 5 + .9
o] 0k 0 \ \ \ | Ok | 0
T _ws x 10 BEAM | X I I T 4 TV we w0 seam | K n
) #315124 1 & #315158

3 g
z| 8%
T89
FOURTH FLOOR STRUCTURAL FRAMING PLAN RESIDENCE ROOF STRUCTURAL FRAMING PLAN TOWER ROOF STRUCTURAL FRAMING PLAN g 55
g3
SCALE: 1/4"=1"-0" SCALE:1/4"=1"—0" SCALE:1/4"=1"-0" = 2 ‘:’ &
2| zts
L || g38
Wl 242
|_|_ x 3=
46'-0" 46'=0" 83
o ul
8" 11’4’ 11'=4 11'=4 8 8 10'-8' 11'=4 11°=4' 11’4’ 8 Q o E
N Y Y Y N Y Y Y S 5
N\ W W W W N N N W
go”\s & D) 00& o Qow\i o o (E 00& & %
o 5 5 5 6 N 5 5 5 5
. . iﬁ\@ . *:\6\\0 w . *;‘)\\O . +:\6\\© . o X X}gb\@\ o io)\\’b . *:\‘)\\0 W . +;i6\\0 ot 3)\\6
] & Rus w10 seam - Wne w0 eeaw | Wus w0 e TN X +— S wcroseam o Cusxroseam N Pwe o] N Cwsxome 8
#315123 - #315123 - #315123 :t: ‘ #315125 % #315123 T #315123 1 — #315123 :t:
io‘ I I I ij I I I I I
4+ | | | 4| wexiseean | | | |
= = | | | O | e | | | I
I I I I I I I I I I E ;
: : . . . 2 : . . . o ¢
: )8 R 5| 5| 3| : R 2R 5| 3| 5| Q 2
i Re 25 oIy oI5 55 0% b 25 R 55 oy g . &
S 5 5 5 5 3 y @ 5 5 5 5 3
o ® e jiE e JR e e e = ;o o |2
§‘ §‘ v‘% wr‘% v‘% E‘ §‘ v‘% v‘% < 2 Q=4 0B
I I §\ §\ ‘§\ I I ‘§\ ‘§\ §\ § m ; % i‘s 2
| I R o Ly | B oy oy Ly g 238 iF
i wsx13EEAM o ‘ K ‘ o ‘ o 4l wsl3EEAM o ‘ o ‘ o ‘ K = 2
| o0 #315129 | 6° | 5 | 5 | 5 | o0 #315129 | © | 5 | 5© | 5 _ MAY 14, 1999
o I X0 I X (K I 57 \0 I 7 A0 | IR\ ® I xog I i AX I 5720 I ) 0 I b7 N0 Drawn by
it ‘ o %6\ ‘ o *4)\‘3\ o +4)\o,\ o +6\6\ o +b\@\ 7 ‘ + %6\ ‘ o *6\‘)\ l o +b\@\ l o +\6\\ o +4)\o,\ SPW
W wg x 10 BEAM Ii\ ¥ ws x 10 BEAM }\*\ ¥ws x 10 BEAM %\*\ ¥ws x 10 BEAM %\*\ ¥ ¥ ws x 10 BEAM ﬁ\ ¥ws x 10 BEAM L\*\ ¥ws x 10 BEAALI L\*\ “'ws x 10 BEAM }\*\ % Checked by
f‘ S 315124 | T T U gmis123 T 315123 N T 4315123 T f‘ S #B15124 T 4315123 4315123 in ~ 4315123 T Scale —om
Order No. FTE-34/9479

SECOND FLOOR STRUCTURAL FRAMING PLAN THIRD FLOOR/ATTIC STRUCTURAL FRAMING PLAN Sneet No
SCALE: 1/4"=1"—0" SCALE:1/4"=1"-0" A6 of 23 y




CORNER COLUMN
, / #315112 or #315114

RAFTER PLATE #315135
0O
©
o L W8 BEAM 1
#315159
RAFTER CHANNELS #315143 & #315144
W
(4) 5/8" x 2" A—325 BOLTS #390002
w/ 5/8" NUTS #390003 RAFTER CHANNELS #315143 & #315144
" A" ” ”
C” RAFTER CHANNEL EAVE CONNECTION B® RAFTER CHANNEL RIDGE CONNECTION 5 BEAT
#315125
I I I
© W8 BEAM o W8 BEAM S W8 BEAM ~ W8 BEAM —
5 #315123 5 #315123 5 #315123 = #315125 =
2 2 2 2 | I
z z z > > ©
3 3 3 s s
) - -
Q S S a a
- Q &) Q S S
2 N N Q S
N s s N s 1
W8 BEAM W8 BEAM W8 BEAM W8 BEAM
5 #315123 #315123 #315123 #315125
- 5
we BrRACES— E
#315119
1
We/B — — — = = —
| | | |
11'-4" 114" 11°=4" 10'-8" 8"
S I T T T LI
: WEST SIDE WALL STRUCTURAL FRAMING ELEVATION
A
;;/567 5%055 _.) I I I SCALE:1/4"=1"-0"
— A TYP.
~ Wa/B < W8 BEAM S W8 BEAM S W8 BEAM ©
= 151 = #315123 5 #315123 5 #315123 5
o 2 = z z z CORNER COLUMN SIDE WALL BEAM
s s = s s #315113 or #315114 4315124 or #315158
3 A > - - Ny /\I
3 W6 BRACES S S 3
S #315119
S S ~ i~ ~ 5
15 N S S S
We/B W8 BEAM W8 BEAM W8 BEAM
151 #315123 #315123 #315123 -
5 oy A \
° h SIDE WALL BRACE #315119
we BrACES— 1 T
#315119 )
(4) 5/8” X 2 1/4” A-325 BOLTS #390005

5/8" X 2” A—325 BOLTS #390002
w/ 5/8” NUTS #390003

1=4"

1"'-4"

-4

EAST SIDE WALL STRUCTURAL FRAMING ELEVATION

w/ 5/8" A—325 NUTS #330003
TYP. AT BOTH ENDS OF BRACE

"A” TYPICAL SIDE WALL BRACE CONNECTION DETAILS

SCALE: 11/2" = 1'=0"

SCALE: 1/4"=1"-0"

REVISIONS

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.
OFFICE (414) 862-6799 FAX (414) 862-6980

P.0. BOX 834, ANTIOCH, ILLINOIS 60002-9998

J\7 of 23

; 2
(@] 3
=z 3
= e & .
(%] & o S
Ll 8 Ty
Ell 8%7
— _ o
ol ZE2
< 3 o9
[o3R=4)
=i
wl| 242
o y8e
- 0 <
|_|_ x ¥z
ox
a <
o ul
T O
o
N
<
|
= 2
8
| =
Ll <>(
(] ]
S g
3 2
s o T x
2 ) >
q O= =
§ @8 S
3 0w 0
q g 50 v =
8 O x ©
3 &
Date
MAY 14, 1999
Drawn b
Y SPW
Checked by
Scale
SHOWN
Order No.
FTE-34/9479
Sheet No.

J




\_

——(2) 5/8" x 21/4” A-325 BOLTS #390005
w/ 5/8” NUTS #390003

~—— RAFTER SUPPORT COLUMN
#315117

ATTIC BEAM  #315121

"D" RAFTER SUPPORT COLUMN BASE

W12 BEAM
#315150

W12 BEAM
#315130

I
#315111

W10-COLUMN — #315113

W14 BEAM
#315120

W10 COLU,

W14 BEAM
#315120

204" 107
1 1

SOUTH END WALL STRUCTURAL FRAMING ELEVATION

SCALE: 1/4"=1"-0"

(4) 5/8” x 2" A—325 BOLTS #390002
w/ 5/8” NUTS #390003

RAFTER BEAMS #315142

RESIDENCE SIDE WALL COLUMN

"E” RAFTER EAVE CONNECTION

W12 BEAM
#315150

W12 BEAM
#315130

A U

(7 1)
o~

]

[

W14 BEAM
#315120

W10 COLUMN — #3151 14~

W10 COLUMM.  #315

Wi4 BEAM
#315120

10'-0"

10’ 20'-4" Lu"
1 T 1

SECTION THRU STRUCTURAL FRAMING AT COMMON WALL

N

(4) 5/8" x 2 A-325 BOLTS #390002

w/ 5/8” NUTS #390003

RAFTER SUPPORT COLUMN
#315117

RAFTER BEAMS #315142

"F” RAFTER RIDGE CONNECTION

S N\ ]
= Wi4 BEAM =
) #315121 )
R R
Z Z
s s
2 )
-~ -~
|9 S
() ()
2 Q
5 =
L
Wi4 BEAM
#315121

TYPICAL RESIDENCE STRUCTURAL FRAME

SCALE: 1/4"=1"-0"

SCALE: 1/4"=1"-0"

REVISIONS

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.
OFFICE (414) 862-6799 FAX (414) 862-6980

P.0. BOX 834, ANTIOCH, ILLINOIS 60002-9998

Qﬁ FIRE FACILITIES INC.

P.O. BOX 834, ANTIOCH, IL 60002—-9998
OFFICE: (414) 862-6799 FAX (414) 862-6980

NATIONAL (800) 92—WESCO

J\8 of 23

| 5
(@]
= 2
8
| =
Ll <>(
(] ]
S =
3 2
s Q T x
2 ) >
S Q= =
§ @es  ES
3 n O
q g e v =
8 O x ©
3 &
Date
MAY 14, 1999
Drawn b
Y SPW
Checked by
Scale
SHOWN
Order No.
FTE-34/9479
Sheet No.

J




(2) 5/8” X 1 1/2" A-325 BOLTS #390001
w/ 5/8” NUTS #390003

(2) 5/8" X 1 1/2" A-325 BOLTS #390001
w/ 5/8” NUTS #390003

(2) 5/8” X 1 1/2" A—325 BOLTS #390001
w/ 5/8" NUTS #390003

E: E: =] =
L s <] =
ROOF BEAM S~ ROOF BEAM #315159 —7 ROOF BEAM
T I
H s / H H

ROOF END WALL BEAM
#315150
(4) 1" X 3" A-325 BOLTS #390012 (4) 1" X 37 A-325 BOLTS #390012
w/ 17 NUTS #390011 w/ 17 NUTS #390011
\;TOWER CORNER COLUMN TOWER CORNER COLUMN 4/
N A"
C” SECTION THRU TOWER ROOF FRAMING
TOWER CORNER COLUMN
(8) 1” X 3 1/2” A—325 BOLTS #390013 (8) 1" X 3 1/2” A—325 BOLTS #390013 \
/ w/ 1" NUTS #390011 w/ 17 NUTS #390011
/ (2) 5/8” X 1 1/2" A—325 BOLTS #390001 (2) 5/8" X 1 1/2" A—325 BOLTS #390001
Al w/ 5/8" NUTS #390003 w/ 5/8" NUTS #390003 \ s
o] H 8 g8 [P
E: =
T~ INTERIOR FLOOR BEAM #315129 INTERIOR FLOOR BEAM #315129 _
=] i i |B
o B 1 I i B
4TH FLOOR END WALL BEAM 2nd. FLOOR END WALL BEAM
#315130 #315130
(2) 5/8” X 1 1/2” BOLTS #390001 (2) 5/8" x 1 1/2" A-325 BOLTS #390001
w/ 5/8” NUTS #390003 w/ 5/8" NUTS #390003
N~
B® SECTION THRU FOURTH FLOOR TOWER FLOOR FRAMING
TOWER CORNER COLUMN TOWER CORNER COLUMN
V (10) 1”7 X 4" A—325 BOLTS #390010 (10) 17 X 4" A—325 BOLTS #390010 N
/ w/ 17 NUTS #390011 w/ 1" NUTS #390011
/ (2) 5/8" X 1 1/2" A=325 BOLTS #390001 (2) 5/8" X 1 1/2" A-325 BOLTS #390001
N w/ 5/8" NUTS #390003 w/ 5/8" NUTS #390003 \ 0]
o ] f &)
i i i b

T INTERIOR FLOOR BEAM #315129

INTERIOR FLOOR BEAM #315129 —_—

thildh dh  dFhildh

Lan. FLOOR END WALL BEAM
#315120

(2) 5/8” X 1 1/2” BOLTS #390001
w/ 5/8" NUTS #390003

HHE T H[Y

2nd. FLOOR END WALL BEAM A
#315120

(2) 5/8” 1 1/2” BOLTS #390001
w/ 5/8" NUTS #390003

"A” SECTION THRU SECOND/THIRD FLOOR TOWER FRAMING

REVISIONS by \

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.
OFFICE (414) 862-6799 FAX (414) 862-6980

P.0. BOX 834, ANTIOCH, ILLINOIS 60002-9998

P.O. BOX 834, ANTIOCH, IL 60002—-9998
OFFICE: (414) 862-6799 FAX (414) 862-6980

Qﬁ FIRE FACILITIES INC.

NATIONAL (800) 92—WESCO

)\9 of 23

<+ o
| =
o
E =
[&]
&
=~ —
L =
o o2
S .
& =
§ 8 ) %)
Q = 4
PR = ]
3 g 2 R%) ES
S 29 O
8 O x © =
3 &
Date
MAY 14, 1999
Drawn b
Y SPW
Checked by
Scale
SHOWN
Order No.
FTE-34/9479
Sheet No.

J




RESIDENCE SIDE WALL COLUMNS
/7(8) " X 4" A-325 BOLTS #390010

1 X
/ w/ 17 NUTS #390011

(2) 5/8” X 2 1/4” A—325 BOLTS #390005
w/ 5/8” NUTS #390003

RESIDENCE SIDE WALL COLUMN

(8) 1" X 4”7 A—325 BOLTS #390010

RAFTER SUPPORT COLUMN #315117

w/ 1" NUTS #390011

#315121

(2) 5/8” X 1 1/2” BOLTS #390001
w/ 5/8” NUTS #390003

”E”

LTYP. FLOOR END WALL BEAM

[ iz
6| f ¥ i B
6| ill==
| i B

(2) 5/8" X 1 1/2” BOLTS #390001

SECTION THRU ATTIC FLOOR RESIDENCE FRAMING

w/ 5/8" NUTS #390003

w/ 17 NUTS #390011

RESIDENCE SIDE WALL COLUMN
V /—(8) 1”7 X 4" A-325 BOLTS #390010

/

RESIDENCE SIDE WALL COLUMN

(8) 17 X 4" A-325 BOLTS #390010

w/ 1" NUTS #390011

#315121

(2) 5/8” X 1 1/2” BOLTS #390001
w/ 5/8” NUTS #390003

”D”

L2md. FLOOR TRANSVERSE BEAM

(2) 5/8" X 1 1/2” BOLTS #390001

SECTION THRU SECOND FLOOR RESIDENCE FRAMING

& b il=
= (I i (B
== (i i (B
= (N =

w/ 5/8" NUTS #390003

REVISIONS by \

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.
OFFICE (414) 862-6799 FAX (414) 862-6980

P.0. BOX 834, ANTIOCH, ILLINOIS 60002-9998

NATIONAL (800) 92—WESCO

P.O. BOX 834, ANTIOCH, IL 60002—-9998
OFFICE: (414) 862-6799 FAX (414) 862-6980

Qﬁ FIRE FACILITIES INC.

[%2)
=z
=
< 5
] 2
n
= 2
<
2
|
2 :
o =
= <
© <
! 8.y |E
2 =3
o w g Ll
¥ @R [s
Q g =] v Ll
8 O x © 0
S (]
Date
MAY 14, 1999
Drawn b
4 SPW
Checked by
Scale
SHOWN
Order No.
FTE-34/9479
Sheet No.




( o ———— FLOOR JOIST END TRACKS REVISIONS by
-4 #340004
30" _J'-4 4-8 4
SPECIAL SHAFT JOISTS #340151
TYP ® SIDES OF SHAFT
A 7
® . FLOOR JOIST END TRACKS STRAP BRACE UNDERSIDE OF ROOF /FLOOR
in h #340004 TYP. AROUND ENTIRE PERIMETER JOISTS AT LOCATIONS SHOWN WITH STRAP
¥ X BRACE #340002. FASTEN STRAPS TO
* JOISTS WITH (2) #12 x 3/4” SCREWS #760600
o — PER JOIST
T T [ I I I I I 7
3 | | [ [ [ -
_7 | (F FLOOR JOISTS #340051 ° S 21/2"
Al TYP. ~ 3*: -
: u g : | X bl
H H / H % NOTE: THERE ARE TWO TYPES OF JOIST END TRACK THAT R
: SPECIAL STAR BPENING FLOOR JOST = HAVE THE EXACT SAME PROFILE (#340004 IS 18 GAGE, ®
#340061 TYP. ‘t\LONG SIDE OF H H & WHILE #340082 IS 12 GAGE). ONLY USE THE 12 GAGE TRACK
: :77:: STATR—OPENN - ON THE ROOF OF THE TOWER AND/OR WHERE SPECIFICALLY DETAILED. -
» | | | :
£ = ~
é ] ‘ ‘ I I I I~ §
- TOWER FLOOR JPISTS o ©
‘ T a00s0 TP, 3 TYPICAL FLOOR &/or ROOF JOIST w
@ =
| = e H H H - g =
| L —
| | T i [:4
[ ‘ :N w o o g
4 o
‘ ‘ H H H = FLOOR DECK FLOOR JOISTS e 88 o
[ — i T
< H H H B Y 2'-0" TYP. 2-0" [ 2-0" 2'-0" TYP. § § § §
I | | - S §s822
~ Z 0 3 =
| AL H | H + , , o , , HH
SUNULIE I L I T i I - < 5353
— =
¥ N—— [STAIR| LANDING JOISTS ~ #340062 NOTE: FIELD CUT JOISTS AND TRACK B ) ) ) ) ) ) 2 g & g & -
['YP. AT SJAIR LANDINGS AROUND STAIR OPENINGS. {<— BUILDING CENTER LINE 2w E o 2
STAIR HEADER CHANNEL / ZE< g 83
#340222  TYP. AT TOP STRAP BRACE #340002 AT LOCATIONS 2w X fi 5 2
AND BOTTOM OF STAIRS Tz
P | P O I B B s - SHOWN. FASTEN TO UNDER SIDE OF s.832 ¢
f JOISTS w/(2) #12 x 3/4” S.D. EEQy = E
1/,;Vzu\a e /5 SCREWS #760600 PER JOIST g Sck 2 g
- a o O <
46'-0"
THIRD FLOOR /A C JOIST FRAMING PLAN SECTION THRU FLOOR SHOWING TYP. JOIST SPACING
SCALE: 1,/4"=1"-0" SOME FIELD DRILLING OF HOLES IN THE STRUCT. BEAM .
’ WILL BE REQUIRED FOR THE 3/8" BOLT &) © §
o gn —— FLOOR JOIST END TRACKS _NOTE: ATTACHMENT OF THE CLIP TO THE STRUCTURAL BEAM =z S !
74 #340004 INSTALL SHAFT JOISTS BEFORE THE TOWER FLOOR JOISTS. s9
e 4 SOME TOWER FLOOR JOISTS MAY REQUIRE FIELD LOCATION FLOOR /ROOF JOISTS (%) & ©8
TO ALLOW FOR THE INSTALLATION OF THE SHAFT JOISTS. Ll =]
SPECIAL SHAFT JOISTS #340151 = Sz o
_ TYP @ SIDES OF SHAFT SPECIAL FLOOR JOISTS #340049 | f vl g'
¥ 6" X 3" 12GA. FASTEN TO JOIST TRACKS O =<2
! s W/ CLIPS #330054 AND SCREWS #760600 o < 5 : 8
% (4 SCREWS PER EACH LEG OF CLIP) < o o ~— JOr$¥ CLIPS #340005 |_|_ ::=> @ o
| : FLOOR JOIST END TRACKS o o zZ o 4
o I #340004 TYP. AROUND ENTIRE PERIMETER SPECIAL JOIST END TRACK (THESE TWO LOCATIONS ONLY) el L :. é g
oy, 69 #340007 6" X 4" 18 GA. LE: 582
S A - R —— FASTEN JOISTS TO JOIST CLIPS x5 E =z
N ST TR N T T T T = T 71 T i i w/ (8) #12 x 3/4” S.D. SCREWS #760600 a <
N H H = 1 7 1 H H =t PER CLIP o
5 1 iz H 7 moﬁ p— e H / H for REFERENCE ONLY \ &
4 i /" el cun I ' H H FLOOR /ROOF SUPPORT BEAM
‘ S = 5
H / H H g H H < ‘ L STRAP BRACE UNDERSIDE OF ROOF/FLOOR @
‘ I = - ‘ C JOISTS AT LOCATIONS SHOWN WITH STRAP TYP. JOIST TO INTERIOR BEAM CONN.
‘ SPECIAL STAIR iPEN\NG FLOPR JOIST H o H H BRACE #340002. FASTEN STRAPS TO
L ||| #340061 TYP.|ALONG SIDE JOF N = JOISTS WITH (2) #12 x 3/4” SCREWS #760600
| i FATR—OPENHY : A, PER JOIST
i i i FLOOR voIgT | TRACK [[ o | | VN
) . < #340004 T ) 1 I \z/
% & ‘ ‘ I ! I [ [ ]
N - TOWER FLOOR JH)\STS ° o i I
‘ {| #340050 TYP. il
‘ I | A 5. = I FLOOR/ROOF JOISTS <+
| K—— STAIR HEADE]R CHANNEL H H |
‘ ‘ l #340222 AT [TOP OF STAR H H E %)
[ [ I I WALL TRACKS <|_ - £
‘ ‘ L
. =7 I I ! <~————— JOTST CLIP #340001 Lé-l o
N ‘ ! m!‘Ls" wo’Hs” s %‘;Oﬁ HOISTS #340051 \ H H JOIST END TRACK o] 4
- | ‘ - 8" x 4" 1Bga. CHANNEL s
~ <C
i I I / I S 2
“ c
| AN 1 | I Y. S . S / FASTEN CLIP TO JOIST & TRACK s o <
== FASTEN TRACK TO BEAM w/ (8) #12 x 3/4" S.D. SCREWS #760600 § 8 3o o &
¥ N—— STAIR| LANDING JOISTS ~ #340062 NOTE: FIELD CUT JOISTS AND TRACK w/ 3/8" dia. BOLTS #760100 PER CLIP 8 == s
['YP. AT SFAIR LANDINGS AROUND STAIR OPENINGS. BURN ROOM ROOF JOISTS #340213 @ 2’-0” o.c. = S E 38 $3
STAIR HEADER CHANNEL (SEE BURN ROOM DETAIL PAGE| AN 3 S
#340222 TYP. AT TOP FOR EXACT LOCATION OF JOISTIS) FLOOR/ROOF SUPPORT BEAM Date
AND BOTTOM OF STAIRS
Za L ol B B ol - B 344" MAY 14, 1999
/ \ / TYP. JOIST TO EXTERIOR BEAM CONN. Drawn by -
1'-21/2" L8 1/2" 1'—5" Checked by
45'-8" 14-4"
Scale
SHOWN
60'-0" Order No.
FTE-34/9479

SECOND FLOOR JOIST FRAMING PLAN oot o,
\_ SCALE: 1/4"=1"-0" A77 of 23 J




REVISIONS by

NOTE: THERE ARE TWO TYPES OF JOIST END TRACK THAT
HAVE THE EXACT SAME PROFILE (#340004 IS 18 GAGE,
WHILE #340082 IS 12 GAGE). ONLY USE THE 12 GAGE TRACK
7 — ;;‘i‘o’goi"m END TRACKS ON THE ROOF OF THE TOWER AND/OR WHERE SPECIFICALLY DETAILED. 74 ;gjggoj"‘“ END TRACK
30" _[I'—4 4'-8 A 3-0" |1'-8"9" 2'-6"_|9 17}{
SPECIAL SHAFT JOISTS #340151 SPECIAL SHAFT JOISTS #340153
TYP @ SIDES OF SHAFT TYP @ ROOF OF SHAFT
i 7 3
7 SPECIAL 12 GA. JOIST END TRACK #340082 < T /
B . o FOR PARAPET STUD ATTACHMENT W i
W Y 340 AROUND ENTIRE PERIMETER OF ROOF o °
4 .
14'-8" 4-0" 15'—4" ”’ f
. S S ey -
(i | = r
N - e EAVE STRUTS  #340060 |
N <—— FLOOR JOIST END TRACKS [ TYP. AT RESIDENCE EAVES \
,‘\ #340004 TYP. AROUND ENTIRE PERIMETER i‘f * )
N . 1 ] il i i T | | T i i it i
— I I [ [ < i STRAP BRACE UNDERSIDE OF ROOF/FLOOR ~————— @
. [ JOISTS AT LOCATIONS SHOWN WITH STRAP
PECIAL STAIR OPENING FLOOR JOIST C\) F\’ H H ‘ ‘ H H BRACE #340002. FASTEN STRAPS TO u uu giu H 'é
#340061 TYP. ALONG SIDE OF Rl - JOISTS WMITH (2) #12 x 3/4" SCREWS #760600 W
FIF=F=1| STAIR OPENING 5 H H H H : PER JOIST g g
X o ‘ ™ HEADER CHANNEL = =
! . . S
I ™ bl IN] = ¢ = 0 o 4
R - TOWER FLOOR JOISTS \_< N N 2 XS
L[] ssone = — — — c iid
= e S ] 8
; H [ 1 ] | 1 H [ 1 g8z
— i i i i i Tl 0 § N2 @
o
I | — H H H H H H \ % 5 Egsz:
e = - | - o
3 ° z H H H H > ;gi\ODOE:zCE ROOF JOISTS 1o g s . 53 5 g8
- NOTE: FIELD CUT JOISTS AND TRACK - I I { # 2w £ z - 3
4 L 4 AROUND STAIR OPENINGS. T H H I I T FLOOR JOIST END TRACKS T E=<g & 8
~N [ L | #340004 TYP. ACROSS ENDS ; ; 2 % % ] §
] i § i [ [ | [ S — frxiz:
STAR HEADER CHANNEL—) P AT STAR LANDNGS B | i i I I I I | NOTE: FIELD CUT JOISTS AND TRACK 25 282 E
#340222  TYP. AT TOP e i S o —y ﬂ I I T I I T I I T AROUND ROOF OPENINGS. 4" 1'-8"2'-0"|1'-9"p|1'—11"[1'—10"1"—8"| | 4" EE 3 g zE
AND BOTTOM OF STAIRS / \ 4 — — ==
1’—2 1/2" L8 1/2" S 12'—0
12-0" -
(=3
FOURTH FLOOR JOIST FRAMING PLAN RESIDENCE ROOF JOIST FRAMING PLAN TOWER ROOF JOIST FRAMING PLAN o g
SCALE: 1/4"=1"-0 SCALE:1/4"=1"-0 SCALE: 1/4”=1"-0 n z 8 3
(] o~ 0
E| g5t
— o~
el z%2
L || 8 g e
wll 242
| x § 8 %
] |_|_ = :‘f =z
83
_ for REFERENCE ONLY o8
o
JOIST END TRACK #340004
8" x 4”7 18ga. CHANNEL
1 . 7 +
— )
° 7 n
= :
/ g =
o
10'-3" =z
] L o <
] - = < n
LINER PANEL #360002 S o © <Z(
[ <—— STAIR HEADER CHANNEL STUDS #330209 STUDS #330209 i - i 2 O=3 o
ROOF JOISTS ] EANRA 5 ;noku 2
8” x 2 1/2” 16ga. "CEE” N #340222 8" x 5" 12ga. CHANNEL / 2" OF CONCRETE COVER (BY DITHERS) \ 2" OF CONCRETE COVER (BY OfHERS) g 7 % = Z
9a- LINER PANEL #360001 —| S g 38 s O
FLOOR PANEL #352730 - FLOOR PANEL #352730 3 2=
— — T T T T TCC N
A X N N Date MAY 14, 1999
& JOIST #340049 JOIST END TRACK #340007 JOIST #340048 Drawn by
JOIST #340051 JOIST END TRACKS #340004 —dJOIST #340056 o JOIST END TRACK #340007 SPW
4t 11'210" 11'-8 Checked by
120 Scale
SHOWN
Order No.
FTE-34/9479
" SLADED STAR FRAMED OPENING DETAIL A FROM PAGE 11 (SECTION THROUGH) DETAIL B FROM PAGE 11 (SECTION THROUGH) — fomm—tcst
SCALE:1,/4"=1"-0" SCALE:1,/4"=1"-0"

)\72 of 23 y




( SPECIAL STUD WALL TRACK #330305 REVISIONS by

TYP. AT TOP & BOTTOM OF
PARAPET STUDS ONLY

12"8" 7_4” 12%12% 10"

FLOOR JOISTS
ALIGN w/ TOP OF JOIST TRACK N\ / 8 x 2 1/2" 16 ga. "CEE”

~>—— FASTEN WALL TRACKS TO JOIST TRACK

“ w/ #12 x 3/4" S.D. SCREWS #760600 [T I
STUD WALL TRACK #330000 AT 2'-0" o.c. waLL sTups #3303p0 |t %
4 x 2” 20 ga. CHANNEL TYP. AT PARAPET B
<— FLOOR SUPPORT BEAM NOTE: FIELD LOCATE RESIDENCE AND TOWER FRAMED OPENINGS i\ 51
JOIST END TRACK  #340004 UNLESS DIMENSIONED ON PLANS OR ELEVATIONS.
8” x 4" 18 ga. CHANNEL
_
3’—0" 512
TYPICAL TOWER STUD TRACK CONNECTION = =k o
NOTE: MAXIMUM STUD SPACING FOR PARAPET : lg_o” b_g? J
scale: 11/2" = 1'-0" IS 1°=0", WHILE MAXIMUM STUD SPACING STRAP BRACE INSIDE FLANGE OF STUDS ~ —f . C
ANYWHERE ELSE IS 2'—0 AT MID SPAN WITH STRAP #340002 N
: FASTEN W/(1) #12 x 3/4" SCREW ]
#760600 PER STUD TYP. [ WALL IBTUDS #330301
TP, AT #TH. FLADPR
2 \ = —
ﬁ \
<— WALL STUDS . o 3
- 4" x 27 2Q0ga. "CEE” Py . 2-07,2'-0% , 2'~07 | TYP. o gipis g
N o Y 3’0 542 @ =
FASTEN STUDS TO TRACK — L] ] 5 3 =
w/(2) #12 x 3/4" S.D. —STUD WALL TRACK #330000 g b || ® & &
SCREWS #760600 AT EACH r 4" x 2" 20 ga. CHANNEL [ £ 2 g bt
END OF EACH STUD ~ <—f<—"——WALL ${TUDS |§3302]|3 —ft—f—> ALL [[BTUDS #3302(l1 4] & 2 ;
% YP. AT ATTIF SIDEWALL TYP. AT nd. & |[brd| FLOARS u & 4 4
TY TYP. WALL STUD B g%
PICAL TOWER STUD CONNECTION . + 1 Ege2z
m b Z o3
scale: 1 1/2" = 1'-0 2 s 2 T8
£ E3E3
- R =
FRAMED OPENING STUDS #330221 S 5 _o” iy 3‘ 25 -4 § X
TYP. AT 2nd. & 3rd. FLOORS < 5 S Loz Z
<. == | === = = = == K ] Z x 2 o W 5
B'—1/4 - o b = T E=gag
SPECIAL STUD WALL TRACK #330305 < 8'—0 p—8 - 2w £ -6z
TYP. AT TOP & BOTTOM OF q RN T2
PARAPET STUDS ONLY ALL [STUDS #3302 SPECIAL STUD WALL TRACK #330305 =E53>%Z =
VP, WT [2nd. &|[prdl FLOGRS TYP. AT TOP & BOTTOM OF a s 28 ZE
IIZ"VZ"VZ"VZ"I’: 4'-0" TﬂZ"i‘IZ"i‘IZHi‘IZHi gz PARAPET STUDS ONLY '-T_: g 3 g <z( §
T T T I
I‘ I‘ | —
, 1 L : :
T ALL STUDS #3[0300 || = R V;/:ét ;U ASFK; T 0 N
o TYP. AT PARAPHT WALL STUDS #330216 N 3-0 s4iar : \ N
N TYP. AT BURN ROOM o L L [ Ll L ° — 1
T S D = SEE BURN ROOM FRAMING PLAN L L] ¥ e-1/4 | 1 . BN il le—or 1T 1Th—g >
FOR EXACT STUD LOCATION N ‘ r
L ~ ~
sl b g 6'-5 3/8" WALL STUIbS||#380210
TYR. AT|lbt||FLdO | | S S )
© P — 1 e | e | N e |

‘ bt b 7
- 8 @
» <‘v T —— STRAP BRACE INSIDE FLANGE OF STUDS STUD WALL TRACK #330000
~ AT MID SPAN WITH STRAP #340002 TYP. AT TOP & BOTTOM OF WALL §TUDS |¥3302[85
/ FASTEN W/(1) #12 x 3/4”7 SCREW EACH FLOORS STUD WALL SPECIAL AT 4TH FLBOR OFf SHART
TUDS #0301 ||~ #760600 PER STUD TYP.

i A e Hlooe | / WEST SIDE STUD WALL FRAMING ELEVATION 1t

SCALE: 1/4"=1"-0"

NATIONAL (800) 92—WESCO

NOTE: FIELD CUT FRAMING AROUND FRAMED OPENINGS

4" —4" 2-07 ,2’-0" ;2'-07 TYP. [ | .

P.O. BOX 834, ANTIOCH, IL 60002—-9998
OFFICE: (414) 862-6799 FAX (414) 862-6980

|3=-31/2"

-

|

|

|
Qﬁ FIRE FACILITIES INC.

° |
: - °
— o~
Al A = e
~ "
w ]
WALL STUDS #3{g0211 — WAL STUPS #3§0213 [ 5 N gSELéIA TLfTS #SDSDFIZWOR F SHAFT
TYR|[ AT 2nd. &|[3rd. ALOOR: | TYR| AT ATTIC SDEWAIL [ s " [
RN | ‘ B 1
. T T T
| =
%)
=
<
FRAMED OPENING STUDS #330221 | < o
# AT MID OR THIRD SPAN WITH STRAP #340002 . | =
o TYP. AT 2nd. & 3rd. FLOORS FASTEN W/(1) #12 x 3/4" SCREW \ o 5
i | S| | . He——— R | | S| SR | S | . (S S .
H 3 -4 o
= N\ [%)
) P =
[ R WALL §JUDS |#3302[51 = =
WAL STUPS #350211 [ ) 1607 | E # ] =
TYR| AT 2hd. &|[3rd. ALOOR: [ [ SPECIAL AT 2ND FUDOR OF SHAFT o <
o o]
4 —t = < w
o —
| 5 o - =
S 3 <
WALL §JUDS |¢3302[30 §‘ 8 % o K =
¥ SPECIAL| AT BT FLOOR OF| SHAF| 8 b7y % =
. 7 WALL STUDS #330216 N Q g 3 o 5 =
® NI I S | N S A |- | - h: — I TYP. AT BURN ROOM = 3 = 5
> S'—4 3 L L SEE BURN ROOM FRAMING PLAN i Tote
. ‘ ‘ FOR EXACT STUD LOCATION MAY 14, 1999
N [ [
K | | Drawn by
~ [ [
WALL| STUDS #B3021 [ [ [ Eidll
TYP.||AT 18t. HLLOOR [ [ [ Checked by
= - N Scale
STUD WALL TRACK #330000 8'-0" SHOWN
TYP. AT TOP & BOTTOM OF Order No.

EACH FLOORS STUD WALL FTE—34/9479
EAST SIDE STUD WALL FRAMING ELEVATION , fHAF T SIDE STUD WALL FRAMING ELEVATION Sheot Wo.

\_ SCALE:1/4"=1"-0" A73 of 23 J




SPECIAL STUD WALL TRACK #330305
TYP. AT TOP & BOTTOM OF
PARAPET STUDS ONLY

- WALL [STUDS|[#3[50300
4 TYP. AT RARMPET

WALL |STUDS|| #380301|| — I ‘ o
TYP. AT 4TH. RLOOR ST0 {1-5
? ] PP ] =
o I—STRAP BRACE INSIOE FLANGE OFf STUDB &
AT [MID SHAN WITH |STRAP|| #340()02 ~
WALL STUDS |#3302[85 FASTEN WY(1) #12 i 3/47| SCRE
SPECIAL AT #TH FUOOR QF SHAFT #760600 PER SUD||TYP.

WALL STYDS||#330211

T—2] 31-0 17
o
I H NN | N | NN || N | S | N M E——
© X
. R
|l ~

WALL STUDS| #330231
SPECIAL AT |3RD FLOOR [DF SHAFT

(=]
i
=]

WALL STUDS | #3302 r<-WALL STUYDS #3p0211
SPECIAL AT PND FUPOR QF SHAFT TYR. AT @nd. & 3rd. [LODRS

WALL STUDS |#3302(50
SPECIAL AT 1ST FLQOR Off SHAHT

)

ALL $TUDS #3[30210
[TYP. AT {st. FLDOR

J =]

¥ STUD WALL TRACK #330000

TYP. AT TOP & BOTTOM OF
EACH FLOORS STUD WALL

SOUTH END STUD WALL FRAMING ELEVATION

SPECIAL STUD WALL TRACK #330305
TYP. AT TOP & BOTTOM OF
PARAPET STUDS ONLY

6 +/-

=]

Q7V

—

l,_— F&OOR JOISIS" i
8" x 2 1/2" "CEE

NOTE: INSTALL LINER PANEL #360005
ON BOTH SIDES OF PARTITION.

(SEE LINER PANEL DETAILS)

TRIM ENDS OF PARTITION

WITH PARTITION TRIM

#380003

INTERIOR STUDS
#330210

4" x 2" 20GA. "CEE
LOCATE (1) STUD DIRECTLY
UNDER EACH UNSUPPORTED
JOIST

STRAP BRACE
#340002

PARTITION WALL

TRACK #330000

FLOOR SUPPORT PARTITION AT °L” SHAPED STAIR

WA TUDS||#3[30300
T T PARAPHT
SCALE:1"=1"-0"
© (SRS S | S S| S | S | S— S | | S
i
o
WALL STUDY| #330501
TYR. AT gth] FLOO|
. M— = ==
WALL STUDS| #330211
TYR. AT @ndl AND [[Brd. FI{OOR
=
(F %»\%PER L NGTH)
// \\
3 / \
9‘ // /%§ \\
™ S // \\ TR
=] S~
= WALL||STUDS #3021 .
” (FI CUT TO HRQPER L| NGTH)
| 9-5|7/8
T
im—i el
N INITERIOR| STUDH #330215 | —
T AT 1st. |AND 2fid. FLQORS
o
— S — R — i
iy INITERIOR| STUDB #330215 | —
A AT 1st. |AND 2fjd. FLQORS
»

S~ STUD WALL TRACK #330000
TYP. AT TOP & BOTTOM OF
EACH FLOORS STUD WALL

COMMON STUD WALL FRAMING ELEVATION

TYP. 270 1200 0" TP
_— T
_— S~
_—] T
_— o~
<
~|
R
5
WALL STUDS #330211
AT ATTIC END WALL
(FIELD CUT TO LENGTH)
<
s T
%
0 == = s e MERVZSESS
o
- I STRAP BRACE INSIDE FLANGE OF STUDS
AT MID SPAN WITH STRAP #340002
eAWLzL :T Eg f FASTEN W/(1) #12 x 3/4" SCREW
n #760600 PER STUD TYP.
BURN ROOM STUDS #330216
SEE BURN ROOM PLAN
= = i F=| | FOR EXACT STUD LOCATIONS

——_ "}

STUD WALL TRACK #330000
TYP. AT TOP & BOTTOM OF
EACH FLOORS STUD WALL

NORTH END STUD WALL FRAMING ELEVATION

SCALE: 1/4"=1"-0"

SCALE: 1/4"=1"-0"

SCALE: 1/4"=1"-0"

REVISIONS

by\

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

PROPERTY OF FIRE FACILITIES, INC.

P.0. BOX 834, ANTIOCH, ILLINOIS 60002-9998

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

OFFICE (414) 862-6799 FAX (414) 862-6980
WRITTEN PERMISSION.

Qﬁ FIRE FACILITIES INC.

P.O. BOX 834, ANTIOCH, IL 60002—-9998
OFFICE: (414) 862-6799 FAX (414) 862-6980

NATIONAL (800) 92—WESCO

—
=z
[o]
< (&)
| 3
E <
-
]
i a
g %
[%2)
g &
=
3 =
$ Q_ o
kS Q=4 o
§ wn IC—> = Ry
3 0w 0
q g e =
8 O x ©
3 &
Date
MAY 14, 1999
Drawn b
Y SPW
Checked by
Scale
SHOWN
Order No.
FTE-34/9479
Sheet No.

J\M of 23

J




61/2" 1/2" 6 1/2"
[ 2'-0 2-0" /74 L 1=1" 3-0 1 2-01/2" | 2'-0" /
< 9
\ C T C rjﬁﬁ; 7 T o
. g =T r law
7

°
Al

L. &)

S F

\ ? I

BN\

iy [y Wc
A
~

a = !

. BURN ROOM STUDS #330216 .
¥ &
“ | L

N

° 5 >

& LINER PANEL #360001 &

N NOTE: EXACT LOCATION OF BURN ROOM STUDS L |

MUST BE MAINTAINED TO ALLOW FOR ATTACHMENT .

N & OF WESTEMP BOARD -
™ = 1
§ INSTALL WESTEMP PROTECTION ANGLES § =

? #380006 ON THE SILL OF ALL BURN ROOM ®

- WINDOWS AND PROT. ANGLES #380007 ON -

N THE BOTTOM 24” OF THE CORNERS OF ALL H Yy

N BURN ROOM WINDOWS N

= "

i i

I INSTALL WESTEMP PROTECTION ANGLES ¥ -
#380006 ON THE BOTTOM 36” OF CORNERS
OF ALL BURN ROOM DOORS
5 5

- _'I } | .
. éﬁ CORNER TRIM #510700 .
g g
o\\
A T C T N ] T ©
2'-0 2'-0 1'-1" | 1'—1" ‘ 3'-0" ‘ 2'-0 1/2" ‘ 2'-0”
\6 1/2" \1/2" \ 61/2"
14'=4" out to out of studs

BURN ROOM PLAN & STUD

LOCATIONS

FASTEN HEADER TO F.0. STUDS
w/ (4) JOIST CLIPS #340001 PER |
HEADER AND (8) #12 x 3/4” SCREWS

#760600 PER CLIP

TYPICAL BURN ROOM

SCALE:

STUD WALL TRACK #330000
/ 4" x 2" 20ga. CHANNEL

STRUCTURAL HEADER

‘¥STUD WALL TRACK #330000

47 x 27 20ga. CHANNEL

FRAMED OPENING HEADER

1/2" = 1’0"

(2) 10 3/4” x 2" "CEE's” #330002
or (2) 16 3/4” x 2" "CEE’s” #330003

scale:

11/2" = '-0"

)

L 1

#340213

21'-4"

BURN ROOM ROOF JOISTS

ROOF PANEL SUPPORT #340071

2

FASTEN TO JOIST TRACK

"A” SECTION THRU BURN ROOM

| N

ROOF PANEL SUPPORT #340072

FASTEN HATS
w/ (2) #12 x

SCALE: 1/2" = 1’=0"

TO ROOF JOISTS
3/4” SCREWS

ROOF PANEL SUPPORT #340073

> UPPOF ¢ L RT #760600 AT EACH JOIST A 6" x 2 1/2" 16q0. "ZEE”
x 47 16ga. HAT 4" x 2 1/2" 16ga. "ZEE
4-0 ! 4'-0" ! 4'-Q 2'-0"
1 1 <——STUDS  #330214
I I 4" x 2" 20ga. "CEE"
B I - e |
EAVE ANGLE #340070 ————— m I [ [~ ROOF PANEL SUPPORT #340074
Tl JOIST END TRACKS #340004 JOIST END TRACKS #340004 —— > 7" x 3" 16ga. "CEE"

w/ #12 x 3/4" SCREWS
#760600 AT 1'=0" o.c.

FASTEN TO WALL STUDS

Z_ ROOF JOISTS  #340213
8" x 2 1/2” 14ga. "CEE”

STUDS  #330216
4" x 37 20ga. "CEE"

STUDS

4" x 3" 20ga. "CEE”

#330216 ————

"B” SECTION THRU BURN ROOM ROOF

w/ (2) #12 x 3/4” SCREWS
#760600 AT EACH STUD

SCALE:

BURN ROOM SHUTTER HARDWARE

LATCH SET:
HINGE TO JAMB:

LATCH TO DOOR:

DOOR HOLD—OPEN:

HOLMES—HALLY ZINC PLATED SLIDE BOLT #783100
1/4"-20 x 2 1/2” COUNTERSUNK MACHINE SCREWS #392001 AND WHIZ NUTS #502910

(ONLY TWO PER HINGE). OBSTRUCTED AREAS USE TOGGLE WINGS #392002 IN PLACE OF WHIZ NUTS.

1/4"-20 x 3 1/2" CARRIAGE SCREWS #392003 & NUTS #502910
POSITIVE DOOR HOLDER #392010, #12 x 1 1/4” SELF DRILLING SCREWS #104121

3/4" = 1'-0

FRAMED OPENING SILL & HEAD CHANNELS

FRAMED OPENING TRIM

#381140

’,

FASTEN STUDS TO TRACK
w/(4) #12 x 3/4” SD.
SCREWS #760600 AT EACH
END OF EACH STUD

TYPICAL BURN

{[S— WALL STUDS #330216
4" x 3”7 20ga. "CEE"

»—STUD WALL TRACK  #330000
—— 4" x 2” 20 ga. CHANNEL

ROOM_STUD _CONNECTION

scale: 11/2" = 1'=-0"

2 1/4" 71
TYP./

v WALL PANEL

1

SECTION THRU HEAD

WALL PANEL

SECTION THRU SILL

BURN RM. SHUTTER/SWING DOOR TRIM DETAILS

\L FRAMED OPENING STUD

DOOR STOP ANGLE #381000
FASTEN TO JAMBS, SILL & HEADER
w/ #12 x 3/4” SCREWS #760600

SECTION THRU JAMB

REVISIONS

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.
OFFICE (414) 862-6799 FAX (414) 862-6980

P.0. BOX 834, ANTIOCH, ILLINOIS 60002-9998

P.O. BOX 834, ANTIOCH, IL 60002—-9998
OFFICE: (414) 862-6799 FAX (414) 862-6980

Qﬁ FIRE FACILITIES INC.

NATIONAL (800) 92—WESCO

J\75 of 23

ﬂ-

EI

o 3

o <<

o &

= < e

> 13
$ Q 7 S
2 O=2 W E
§ nex &=
3 0w 0 o
qQ g e >
8 O x jigaal
3 &
Date
MAY 14, 1999

Drawn b

Y SPW
Checked by
Scale

SHOWN
Order No.
FTE-34/9479

Sheet No.

J




310" 30" 410"
b
T T ] T
=]
) i
I ~
ko)
ik
R INSTALL WESTEMP PROTECTION ANGLES
#380006 ON THE SILL OF ALL BURN ROOM
INDOWS AND PROT. ANGLES #380007 ON N
THE BOTTOM 24" OF THE CORNERS OF ALL K
5 BURN ROOM WINDOWS N
i
ko)

| L F

LINER PANEL #360001
THIS SIDE| OF WALL ONLY
°
|
‘o

CORNER TRIM #510700
TYPICAL AT "R" PANEL CORNERS

BURN ROOM 2

LINE INTERIOR OF ROOM
WITH WESTEMP BOARD

INSTALL WESTEMP PROTECTION ANGLES
#380006 ON THE BOTTOM 36" OF CORNERS
OF ALL BURN ROOM DOORS

1-01/8 6 1/2"
6 1/2" %—o 1/4" | 2-01/4" | 2'-0 1/4" 1'-9"
/ww4><34 BEAM
T — T —
4 i
WALL STUDS (TYP. SPACED @ 27) .
4" x 2" 20 ga. "CEE™ #330245 & #33024 g
FASTENS SIMILAR TO UP CLOSE DETAIL "C” -
<+
[ R
HAT CHANNELS #330010 3]
S o
~ A
{ >
R
|
EXTERIOR STUD WALL -
o
INTERIOR STUD WALL |
#330209 [ R
o~ ~
, » N -
10'=10 | - -
IN TO IN OF HAT CHANNELS ! o /
—

1]

LINER PANEL #360002
THIS SIDE OF WALL ONLY

4—4

1—g”

SECOND FLOOR BURN ROOM

scale:

1/2" =

10"

” A”

1'—8”

SECTION THRU 2ND FLOOR BURN

ROOM

scale:

1/2 = 1-0"

9'—

<
S
- W8X10 BEAM -
M
o
1 L L L L
} -
hi WALL STUDS (TYP. SPACED @ 2') R \r ” ”
; 4" x 2" 20 ga. "CEE" #330247 -‘1‘1 C
J - HAT CHANNEL #330010
N ] HAT CHANNELS #330010 —————————— [ N
5 =
N S
o o Y
& - N 1
]: { o I - T
5 5, — FASTEN STUDS TO TRACK
H -
N N w/(2) $12 x 3/4” SD.
- INTERIOR STUD WALL - o1 1 SCREWS #760600 AT EACH
Q #330209 9 END OF EACH STUD
. EXTERIOR STUD WALL K n A -
™~ ~ ot | 7 |
N ] [ - ~ i —
Sy Y 3 >
- ‘ o ‘ = 5 STUD WALL TRACK #330000
© f 1 © 4" x 2" 20 ga. CHANNEL
‘L IN TO IN OF HAT CHANNELS ",‘, WALL STUDS (TYP. SPACED ® 2') g
#1x 2" 20 ga. "CEE" #330247

"B” SECTION THRU 2ND FLOOR BURN ROOM

scale:

1/2" =

1'-0"

HAT CHANNEL #330010

REVISIONS

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.
OFFICE (414) 862-6799 FAX (414) 862-6980

P.0. BOX 834, ANTIOCH, ILLINOIS 60002-9998

$ 8
O a
=z s ¢
= e & R
) 4 ® 8
Ll < u
Ell 887
= 2 x &
(@] = s
=l 838
EG
Wi 242
4 582
- © ~ <
L I
o ¥
a<
o ui
]
o ©
e
e}
<
gl
| (%)
= 2
=
S 8
13
§ o 8
= )
Q O g d 0 X
5 ney =~
3 0w 0 o
Q g 2 O §D
2 [SIN= o
S &
Date
MAY 14, 1939
Drawn b
Y SPW
Checked by
Scale
SHOWN
Order No.
FTE-34/9479
Sheet No.

)\76 of 23 )




ROOF PANELS

Tm
28 GA. GALV. LINER PANEL
#360008 — 9'—9” LONG
NOTE: OVERLAP LINER PANEL T T

APPROX. 3”

28 GA. GALV. LINER PANEL
#360010 — 10'—3" LONG

28 GA. GALV. LINER PANEL
#360010 — 10'=3" LONG

28 GA. GALV. LINER PANEL
#360008 — 9'—9” LONG

98"

N —

0—-0"

N —

0'-0"

) —

g—-g”

INTERIOR SHAFT WALL STUDS
#330235 (FIELD CUT)

SHAFT WALL STUDS
#330235

STUD WALL TRACK #330000 TYP.

SHAFT WALL STUDS
#330231

STUD WALL TRACK #330000 TYP.

SHAFT WALL STUDS
#330231

STUD WALL TRACK #330000 TYP.

SHAFT WALL STUDS
#330230

SECTION THRU ELEVATOR SHAFT

SCALE: 1/4"=1'-0"

C C C C ]
[
{ — CORNER TRIM #380005
FASTEN TO PANEL W/ #760600
SCREWS AT 2'-0" O.C.
[
2'-0"
PARTITION CHANNELS #504130
AT SIDES AND TOP OF OPENING
] S —
T

! 3 X 7° TRAC—RITE ROLL—UP DOOR

AT 1ST THROUGH 4TH FLOORS (SEE TRAC—-RITE
INSTRUCTIONS FOR INSTALLATION PROCEDURES).

CONCRETE
[ ;

FIRST FLOOR SHAFT PLAN

SCALE:

1/2"=1"-0"

NOTE: SPACE BETWEEN SHAFT STUD WALLS IS OPEN

FROM FLOOR TO FLOOR.

rd

TLW

Y

FLOOR DECKA

JOIST END TRACK #340004
FLOOR JOIST #340151

CORNER TRIM #380005
FASTEN TO PANEL W/ #760600
SCREWS AT 2°-0" 0.C.

FLOOR SILL ANGLE #340152
ACROSS SILL OF OPENING

PARTITION CHANNELS #504130
AT SIDES AND TOP OF OPENING

C

3' X 7' TRAC—RITE ROLL-UP DOOR
AT 1ST THROUGH 4TH FLOORS (SEE TRAC—RITE
INSTRUCTIONS FOR INSTALLATION PROCEDURES).

SECOND/THIRD/FOURTH FLOOR SHAFT PLAN

SCALE: 1/2"=1"-0"

N revisions by \

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.
OFFICE (414) 862-6799 FAX (414) 862—6980

P.0. BOX 834, ANTIOCH, ILLINOIS 60002-9998

A77 of 23

; 2
(@] 3
z| 8%
@ o
%) 4®8
Ll ST y
Ell 8%7
— _ o
S|l 232
= 838
EE S
Wl 342
o y8E
- © ~ <
|_|_ x ¥ =z
o
a
o u
- O
o
3
C3
a
< =
' &
= o
<
-
o i
(=)
S z
13
§ o 8
= )
] (] g o o X
§ ne= ==
< n O o
Q g > O =]
Q O x © D
S &
Date
MAY 14, 1999
Drawn b,
Y SPW
Checked by
Scale
SHOWN
Order No.
FTE-34/9479
Sheet No.

J




Y REVISIONS by \
T SELF—DRILLING SCREW #104121 T SELF—DRILLING SCREW #104121 | T >
| @ 1’-0" 0.C. | @ 1’-0" O.C. I:CHANGE DIVERTING ANGLE
DETAIL
’ Q
= g = g-—
18 GA. PARAPET RAKE TRIM #387220 18 GA. PARAPET RAKE TRIM #387220
INSIDE RAKE TRIM OVERLAPS OUTSIDE INSIDE RAKE TRIM OVERLAPS OUTSIDE
’ K INSIDE CLOSURE #351302 ¢ Q
TAPE CAULK BOTH TOP AND BOTTOM CAULK TAPE #760700
OF CLOSURE T SELF—DRILLING SCREW #104121
’ C ’ C INSTALL END CAP #380220 o @1-0" 0.C
12 GA. STUD WALL 12 GA. STUD WALL AND FASTEN WITH SCREWS #104121 B 0
’ N SELF—DRILLING SCREW #760502 ’ N SELF—DRILLING SCREW #760502
2 PER STUD @ 1'-0” 0.C. 2 PER STUD @ 1'—0” 0.C. - 5
18 GA. PARAPET RAKE TRIM #387220
P )
3 12 GA. SUPPORT ANGLE (2” LEG ON WALL) #330306 S 12 GA. SUPPORT ANGLE (2" LEG ON WALL) #330306
SELF—DRILLING SCREW #760502 @ 6" o.c. SELF—DRILLING SCREW #760502 @ 6” o.c.
) / 36” WIDE ROOF PANEL 3= / 36" WIDE ROOF PANEL 5
w
T 1 g g
N ——,[ WING WALL TRIM #387020 12 GA. STUD WALL (FIELD CUT TO LENGTH) ] =
J i 20 GA. TOP DIVERTING ANGLE #330308 J 20 GA. TOP DIVERTING ANGLE #330308 o] &
—4 —-4 E 8 3 ;
L 20 GA. BOTTOM DIVERTING ANGLE #330307 i 20 GA. BOTTOM DIVERTING ANGLE #330307 ) $ 2 ;
FASTEN W/ (8) SCREWS #760600 & gg2
7 PER WING WALL B S8 2
IMPORTANT: MUST INSTALL DIVERTING ANGLES BEFORE IMPORTANT:  MUST INSTALL DIVERTING ANGLES BEFORE E s ® T =z
—3 INSTALLING THE PARAPET STUD TRACK AND STUDS. — INSTALLING THE PARAPET STUD TRACK AND STUDS. = 2 =
(OVERLAP ANGLES AS SHOWN) (OVERLAP ANGLES AS SHOWN) 2 g 2 x g
’ ’ 36" WIDE ROOF PANEL £§52<3
2425 8§
T =85 & 2
12 GA. JOIST TRACK #340082 12 GA. JOIST TRACK #340082 cwt $ =8
’ \ ’ \ YR ERYEIRY =E=gasg
SPECIAL STUD END TRACK #330305 AT TOP AND BOTTOM OF SPECIAL STUD END TRACK #330305 AT TOP AND BOTTOM OF g5 888
PARAPET STUDS ONLY PARAPET STUDS ONLY Szt
x 3/8” DIA. BOLT @ EVERY STUD n 3/8” DIA. BOLT @ EVERY STUD bl hl SE a8y =g
(FIELD DRILL HOLE FOR BOLT AND (FIELD DRILL HOLE FOR BOLT AND 2gdEge
4 INSTALL BEFORE PLACING ROOF PANEL) 4 INSTALL BEFORE PLACING ROOF PANEL) ooa o=
18 GA. TRANS. TRIM #387120 18 GA. TRANS. TRIM #387120
TOWER PARAPET DETAIL AT EAVE TOWER PARAPET DETAIL AT RAKE WING WALL DETAIL AT END s
(=3
2| 3%
IMPORTANT: FOR THE EASE OF INSTALLATION OF THIS TIE RING TO THE STUD, o % o
INSTALL THIS ASSEMBLY BEFORE INSTALLING THE WALL PANEL ) A‘ © 5
ON THE INTERIOR SIDE OF THE PARAPET WALL. (] 8 T 1%
El 8&%
_ N
WALL PANEL ————= 6 =l* é 2
< I +-g
WING WALL TRIM #387020 21/2° TE ANG W/ SHOVLDER So38
INSIDE CORNER TRIM #380420 hashions L 2l
WALL STUD Z ©
\ Wl 2l
x|l 382
: x g s
< S / < a
! / sy
— &
<> < INSTALL COTTER PIN #630142
Y 3/8" NUT
3/8" FLAT WASHER #630146
WALL PANELA 12 GA. SUPPORT ANGLE #330306
(2) RINGBOLT SPACERS #391009
1 BETWEEN PANEL & STUD
1 BETWEEN STUD & NUT
\ W
12 GA. SUPPORT ANGLE #330306 PARAPET CHAIN RING INSTALLATION DETAIL
N.T.S. <
WALL PANEL él
/ WING WALL TRIM #387020
o
INSIDE CORNER TRIM #380420 PARAPET CHAIN RING (SEE DETAIL ABOVE) o 9
THREE PER SIDE, SPACED EVENLY g s
<C
INSIDE CORNER TRIM #380420 S a
\ § o _ —
T Q Q= d w‘ﬁ'_"
2. 12 GA. SUPPORT ANGLE #330306 = | iS H Nnode 22
. = ﬁf S E L8 X
T 3 O x %»n_
k]
- ne by Date
MAY 14, 1999
/ Drawn by
J WALL PANEL SPW
1 Checked by
OUTSIDE CORNER TRIM #380320 "
SHOWN
Order No.
OUTSIDE CORNER TRIM #380320 rder No FIE-34/0470
SECTION THRU PARAPET AT BUILDING CORNER SECTION THRU PARAPET OPENING et o

A78 of 23 y




WALL TRACK #330000
4" x 27 20ga. CHANNELS

| |
| |

TYPICAL TOWER SWING DOOR
FRAMED OPENING ELEVATION

\ HEADER TRACK #330000
4” x 2” 20ga. CHANNEL
ATTACH TO DOOR JAMBS
w/ CLIPS  #330001

SWING DOOR JAMB SUPPORTS
47 x 27

~——WALL STUDS
47 x 27

NOTE:

| |
| |

30 1/4"

TYPICAL BURN ROOM SWING DOOR
FRAMED OPENING ELEVATION

4-01/4

16ga. "CEE”

3-0 1/4"

_

HEADER TRACK #330000
” x 2” 20ga. CHANNEL
ATTACH TO SHUTTER JAMBS
w/ CLIPS #330001

18ga. "CEE”

" ABOVE FINISHED FLOOR/CURB

TYPICAL TOWER WINDOW/SHUTTER

FRAMED OPENING ELEVATION

JAMB SUPPORTS (SAME AS SWING DOOR)
” x 2” 16 ga. "CEE”

~—— WALL STUDS
” x 2” 18ga. "CEE”

WALL TRACK #330000
" x 2" 20ga. CHANNELS

|

3_0o

TYPICAL

FRAMED OPENING ELEVATION

|

YW 1/2" x 21/2" x 10'=0" 20 GA. GALV. TOP ANGLE #506640

WALL TRACK #330000
4" x 27 20ga. CHANNELS

HEADER TRACK #330000
4" x 2" 20ga. CHANNEL
ATTACH TO DOOR JAMBS

=3

v

. K
3 x VARIOUS LENGTH 28 GA. GALV. LINER PANEL

FASTEN WITH #12 x 3/4" SELF DRILLING SCREWS

(1) ® EACH MAJOR RIB. AT PANEL LAPS, FASTEN
WITH (2) #12 X 3/4" SELF DRILLING SCREWS SPACED
EQUALLY APART ALONG PANEL HEIGHT.

w/ CLIPS  #330001

\/ 1" x 1 1/4" x 1.1/2" x 10'-0" 28 GA. GALV BOTTOM TRACK #504130

LINER PANEL FASTENING DETAIL

(2) SWING DOOR JAMB SUPPORT
4" x 27 16ga. "CEE”
DOUBLE STUDS REQUIRED TO ALLOW
FOR DOOR ATTACHMENT

SECTION THRU HEAD

TOWER ROLL-UP DOOR

~=—— 28 GA. GALV. LINER PANEL

|/~ STUD WALL TRACK

LA

PARTITION TRACK #504130

FRAMED OPENING STUD
SECTION THRU JAMB

INTERIOR F.O. TRIM DETAIL

WALL TRACK  #330000
4" x 2" 20ga. CHANNELS

STRUCTURAL HEADER #330003
(2) 17" x 2” "CEE’s”

HEADER TRACK #330000
4" x 2" 20ga. CHANNEL
ATTACH TO DOOR JAMBS
w/ CLIPS #330001

4" x 2" 16ga. "CEE"

<—  SWING DOOR JAMB SUPPORTS #330226

FRAMED OPENING FRAMING WILL REQUIRE SOME FIELD CUTTING

WALL TRACK #330000
4" x 2" 20ga. CHANNELS

4-01/4"

3-0 1/4"

_

STRUCTURAL HEADER #330002
(2) 11” x 2" "CEE’s”

" ABOVE FINISHED FLOOR/CURB

HEADER TRACK #330000
4" x 2" 20ga. CHANNEL
ATTACH TO DOOR JAMBS
w/ CLIPS #330001

<—— JAMB SUPPORTS (SAME AS SWING DOOR)
4" x 2" 16 ga. "CEE"

TYPICAL BURN ROOM WINDOW/SHUTTER
FRAMED OPENING ELEVATION

4

R RO R A=t
>

4 4 -
36" COVERAGE
>|

=<

SECTION THRU LINER PANEL

TOWER SHUTTER HARDWARE

LATCH SET:

HINGE TO JAMB:

LATCH TO DOOR:

KEEPER TO JAMB:

DOOR HOLD—OPEN:

HOLMES—HALLY ZINC PLATED SLIDE BOLT #783100, KEEPER #782700

1/4"=20 x 2 1/2" COUNTERSUNK MACHINE SCREWS #392001 AND WHIZ NUTS #502910
(ONLY 2 PER HINGE). OBSTRUCTED AREAS USE TOGGLE WINGS #392002 IN PLACE OF WHIZ NUTS.

#12 x 3/4" SELF DRILLING SCREWS #760600
#12 x 3/4” SELF DRILLING SCREWS #760600

POSITIVE DOOR HOLDER #392010, #12 x 3/4" SELF DRILLING SCREWS #760600

PLYWOOD (BY OTHERS)
NAIL TO BLOCKING (NAILS BY OTHERS)

ROOF CURB #390204
FASTEN CURB TO ROOF JOISTS

w/ #12 x 3/4” SCREWS #760600

AT 1"=0" o.c. (AROUND ENTIRE PERIMETER)

ROOF PANEL

NOTE: CAULK PANEL AROUND ENTIRE
PERIMETER OF CURB

ROOF

X ROOF JOIST or JOIST TRACK

CURB INSTALLATION DETAIL

2x4 WOOD BLOCKING (BY OTHERS)
s BOLT TO CURB AT 2'—0" o.c. (BOLTS BY OTHERS)

REVISIONS

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.
OFFICE (414) 862-6799 FAX (414) 862-6980

P.0. BOX 834, ANTIOCH, ILLINOIS 60002-9998

J\79 of 23

; 2
(@] 3
=z 3
= 830
(%] &08
Ll 8?§
Ell 8%7
— _ o
ol ZE2
< 3 o9
[o3R=4)
=i
wl| 242
o y8e
- 0 <
|_|_ x ¥z
ox
a <
o ul
T O
o
SN
<
EI
|
Ll
o
o
<<
$ Q_ &
s Q=4 =]
3 NnNeE 2
3 gmm A
Q 20 L
8 O x v =
3 &
Date
MAY 14, 1999
Drawn b
Y SPW
Checked by
Scale
SHOWN
Order No.
FTE-34/9479
Sheet No.

J




CANOPY RIDGE SUPPORT
#395010

CANOPY RIDGE CAP

#395020

ROOF PANEL SUPPORT ANGLE #510700

FASTEN TO BUILDING WALL PANELS

W/ #12 X 1 1/4” SCREWS #104121

—— CANOPY EAVE STRUT
iz #395420 FASTEN TO COLUMN

w/ 3/8" BOLTS & NUTS

—

CANOPY ROOF PANELS

#395000

CANOPY SUPPORT CHANNEL

#395320 FASTEN TO COLUMNS

w/ 3/8" BOLTS & NUTS
NOTE:

THE WALL PANEL w/ #12 x
#04121 AT 1'=0" o.c.

ONE CANOPY SUPPORT
CHANNEL SHOULD BE FASTENED TO

<—— CANOPY SUPPORT COLUMNS
#311018

1 1/4" SCREWS

CANOPY WALL PANEL
#395120

CANOPY FRAMING D

ETAIL

CANOPY ELEVATION

LOW EAVE STRUT ——

ROOF PANELS
36" x 11/2" 18 ga.
.~ SEE ROOF PANEL DETAIL

FOR FASTENER PATTERN

INSIDE CLOSURE #351302

~<~————— LOW EAVE TRIM

FASTEN TRIM TO PANELS
w/ #12 x 1 1/4” SCREWS
#104121 AT 10" o.c.

K #381520
K
WALL STUDS VI/”ALL PAF’I’ELS
7,4\[,L 6” x 3/4” 18 ga.
TYPICAL EAVE TRIM DETAIL (RESIDENCE)
scale: 3/4" = 1'-0"

. WALL PANEL

STEP TRIM  #381320
FASTEN TRIM TO STUDS
w/ #12 x 1 1/4” SCREWS
#104121 AT 2-0” o.c.

WALL STUDS — INSIDE CORNER TRIM #381420

T, CAULK TAPE #760700
FH=— ——— ——]~<— ROOF PANEL
FASTEN TRIM TO ROOF PANEL

w/ #12 x 1=#/4” SCREWS
#104121 AT I'=0” o.c.

TOWER/RESIDENCE STEP TRIM_DETAIL

scale: 11/2" = 1'-0"

CANOPY RAKE TRIM
#395220

/ RIDGE CAP #382100

) [=———— QUTSIDE CLOSURE #351301

ROOF JOISTS

18 GA. ROOF PANELS

RESIDENCE RIDGE TRIM DETAIL

scale: 3/4” = 1"-0"

REVISIONS

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.
OFFICE (414) 862-6799 FAX (414) 862-6980

P.0. BOX 834, ANTIOCH, ILLINOIS 60002-9998

P.O. BOX 834, ANTIOCH, IL 60002—-9998
OFFICE: (414) 862-6799 FAX (414) 862-6980

Qﬁ FIRE FACILITIES INC.

NATIONAL (800) 92—WESCO

AZO of 23

d—
EI
| .
= g
o (&)
<<
$ QQ_ o
3 Q=4 =)
§ nes = .
3 g w0 A
Q 20 L
8 O x v =
3 &
Date
MAY 14, 1999
Drawn b
Y SPW
Checked by
Scale
SHOWN
Order No.
FTE-34/9479
Sheet No.

J




USE A 2" x 4" CUT TO 23 3/4” LONG AS A SPACER

TO CONTROL PANEL WIDTHS (8" FROM END OF PANEL)
[

\ 23 3/4"

USE SELF EXPANDING TAPé SEALER,
#710959, FULL LENGTH OF|ROOF PANEL.

STANDING SEAM ROOF OPT|ON. TO PREVENT DAMAGE,
SECURE THE FEMALE LIP TD THE RAKE SUPPORT w/ CLA
THE PANEL WILL NOT BE FASTENED PERMANENTLY

UNTIL THE RAKE TRIM IS INSTALLED. FASTEN w/

#12-14 x 1 1/4" SELF-DR|LLING SCREWS

#710977, WITH EPDM WAS)-{ERS, 12" o.c.

]
\
\
RAKE TRIMS #384020 MUST BE USED w/ l

~1

ROOF LOW RAKE SUPPORT ANGLES

#353001 3" X 2" X 14'—0" LONG 16ga. galv.

AND #353002 6" X 2" X 14'—0" LONG 16ga. galv.
(DOUBLE UP ACROSS END WALL FRAMING AND
FASTEN TO PURLIN SPAN CLIPS w/ SELF DRILLING
SCREWS, VERTICAL LEG FLUSH w/ STRUC. LINE)

TYPICAL STANDING SEAM ROOF ASSEMBLY DETAILS

1°-0" ROOF PANELS AS REQUIRED
for ODD LENGTH BUILDINGS

TYPICAL 2'-0" McELROY STANDING SEAM

ROOF PANELS 24 ga. GALVALUME
PS
2-0"

\ (NOMINAL)
J_l

/

PQSITION THE CLIP #710933 AT EACH ROOF SUPPORT.
ROTATE THE CLIP ON THE MALE LIP UNTIL VERTICAL.

PURLIN LINE

N

(IT IS IMPORTANT THAT THE CLIPS PROJECTING LEDGE
FITS SNUGLY UNDER THE PANEL'S HORIZONTAL LEG AS SHOWN.)

FASTEN w/ #12 x 1 1/4” SELF DRILLING SCREWS #710969, TO PURLIN

THE PANEL CLIP HAS FACTORY APPLIED SEALANT IN THE UPPER LIP.
IF FOR SOME REASON A CLIP MUST BE REMOVED, A NEW CLIP MUST
BE USED OR GUN—GRADE SEALANT INSTALLED IN THE UPPER LIP.

A i Ly A

TYPICAL ROOF PANEL UTILITY CLIPS
#710933 (GREEN FINISH) @ 24" o.c.
(NOT REQ'D @ ENDS or LOW EAVE)

S

‘|IT

'—0" o.c.

L -+ AT 1'=0" o.
: P WALL PANEL

1 1/2”=1’—O”

USE SELF EXPANDING TAPE SEALER, #710959, FULL LENGTH of END WALL.
FASTEN TO RAKE SUPPORT w/ #12-14 x 1 1/4" SELF-DRILLING

RAKE TRIM  #384020
/ SCREWS, #710977, WITH EPDM WASHERS, @ 12" o.c.

- FASTEN RAKE TRIM TO WALL PANEL
R w/ #12 x 1 1/4” SCREWS #104121

NOTES:
SEE THE STANDARD McELROY MASTER LOCK-90 ERECTION MANUAL
for TYPICAL DETAILING STEPS & NOTES.

TYPICAL 2'-0" McELROY STANDING SEAM

ROOF LOW RAKE SUPPORT ANGLES
#353001, 3° X 2" X 140" 16qa. galv.

AND #353002, 6" X 2" X 14'-0" 16ga. galv.
(DOUBLE UP as REQUIRED ACROSS END WALL
FRAMING AND FASTEN TO ROOF SUPPORTS
WITH SELF DRILLING SCREWS)

BUILDING LINE (END)

BUILDING LINE (SID

NOTE:
STANDARD DETAIL HAS A 6"
OVER HANG NOT SHOWN HERE!!

TYPICAL STANDING SEAM ROOF EAVE DETAIL

ROOF PANELS 24 ga. GALVALUM

LS

1 1/2”=1’—O”

START THE RUN OF ROOF PANELS AT THE EAVE.

POSITION THE PANEL WITH THE FEMALE LIP RESTING ON TOP

OF THE MALE LIP. MAKE SURE THE PANELS ARE ALIGNED FLUSH

AT THE ENDS, PRESS DOWN ON THE SEAM, SNAPPING THE TWO PANELS
TOGETHER. ONCE THE PANELS ARE TOGETHER, THEY WILL NOT COME APART.
IT IS IMPORTANT TO BEGIN AT ONE END OF THE PANEL AND WORK

TO THE OTHER, APPLYING PRESSURE CONTINUOUSLY ALL THE WAY

ALONG THE THE SEAM SO AS TO AVOID A BUBBLE IN THE SEAM.

MAKE CERTAIN THE SEAMS ARE FULLY LOCKED TOGETHER, PARTICULARLY
AT THE CLIPS WHERE GREATER RESISTANCE WILL BE ENCOUNTERED.

IF A PROBLEM IS ENCOUNTERED IN FULLY SNAPPING THE SEAMS TOGETHER,

A SHAPING TOOL IS SUPPLIED THAT SHOULD ENABLE THE SEAM TO BE LOCKED.

MUMﬂ METAL INSIDE CLOSURES #710911
(4 1/2" PIECE of-BUTYL TAPE SEALER #710963
UNDER EACH ;(?S%%WSELF EXPANDING TAPE
SEALER #710959 CONTINUOUS @ EAVE OVER.)
FASTEN TO EAVE MEMBER WITH #14 x 1 1/4"
HWH SELF-DRILLING SCREWS, #710969

GALVALUME METAL INSIDE CLOSURES #710911
(4 1/2" PIECE of BUTYL TAPE SEALER #710963
UNDER EACH CLOSURE & SELF EXPANDING TAPE

FASTEN TO EAVE MEMBER WITH #14 x 1 1/4”
H WS, #710969

EAVE ANGLE

~————FASTEN EAVE TRIM TO WALL PANEL
WALL PANEL —= w/ #12 x 1 1/4” SCREWS #104121 AT 1’-0” o.c.

\ 1 YPICAL SECTION THRU EAVE LINE

24” o.c.

(HOLD)
g L= T T T TR\T

GALVALUME METR\
ON 24" CENTERS, \
(CUT 4 1/2" PIEC
CLOUSURE. APPLY J}

TYPICAL EAVE FASTENER

PATTERN

L I
| WAL PANEL
STEP TRIM  #384420
FASTEN TRIM TO STUDS
/w/ #12 x 1 1/4" SCREWS
WALL STUDS — #04121 AT 2'=0" o.c.
FASTEN TRIM TO CLOSURE
w/ #12 x 1 1/4" SCREWS
#04121 AT 1"=0" o.c.
| ROOF PANEL
L OUTSIDE CLOSURE #710875 T 4
CAULK ABOVE & BELOW =
w/ CAULK TAPE #710963 E a
L
~~— INSIDE CLOSURE  #710911 o 8
FOR CAULK INSTRUCTIONS SEE o) o«
L TYPICAL EAVE FASTENER PATTERN DETAIL g =
i BURN ROOM JOISTS 3 &
§ 8=4 |t
Q =
TYPICAL STEP TRIM DETAIL < =S 32 i
scae: 11/2° = -0 D%t al
INSIDE CLOSURES #710911 MUST BE ATTACHED ate MAY 14, 1999
ESURED TAB TO TAB. (FIELD CUT FIRST CLOSURE) Drawn by o
of BUTYL CAULK TAPE, #710963, for UNDER EACH T
CONTINUOUS LINE of SELF EXPANDING TAPE, #710959
CLOSURE. FASTEN THE PANEL TO THE EAVE w/ (10) Scdle om
ELF—DRILLING SCREWS, #710977, as SHOWN —
————FAVE ANGLE FTE_34/0479
— Sheet No.

REVISIONS by

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.
OFFICE (414) 862-6799 FAX (414) 862-6980

P.0. BOX 834, ANTIOCH, ILLINOIS 60002-9998

NATIONAL (800) 92—WESCO

P.O. BOX 834, ANTIOCH, IL 60002—9998
OFFICE: (414) 862-6799 FAX (414) 862-6980

Qﬁ FIRE FACILITIES INC.

)\27 of 23 y




REVISIONS by \

10'=3"

p /4 3-8 5-11 1/4” 8 TREADS @ 875" 4-0° BAR GRATING

PRIME PAINTED SCHEDULE 40-

HAND RALLS, TYPICAL. @ T

TALL 11

6" x 6 x 3/8° PLATE

(4) 3/8° BOLTS
31/2° DIA PRIME PAINTED PIPE COLUMN
i
o
: 3
K|
° b=
PRME PAINTED 1° x 1/6° BAR GRATE TREADS g =
WITH OPEN RISERS, TYPICAL g 5 2 =
DETAL 1 K| g ol
ol = &
w o a
%) S 2
T | . L o ©
v 1 1/4”| SCHEDULE 40 PIPE oY
B w
\_/ E @ PRIME FEINTED & § %4 3
g . 822
Fgdafc=
H H Z o 3
b s I @
T
H H DETAL 8 in é a § x S
. ¢ 5=%t8
u H a4 O -
H H o k-3
e 288§ .
A H ﬁ ow E 1 8
3 1/2" DIA PRME PANTED PIPE COLUMN : U CLANP| W/ (4) 3/8° BoLTS ZE=< g HBZG
AR STRINGER H H FIELD DRILL HOLES IN CHANNEL- o £ L.
A36 STEEL 1N S s T SE
PRIME PAINTED o i E © 3 w
) T Ex Iz
(4) 3/8" CONCRETE ANCHORS g &3 y =
3/8" DIA. CONCRETE ANCHOR w 5 0 E
(ONE PER STRINGER) ICBO REPORT 2 S s E 2 &
'ANCHOR MININUM EEacsZE

]

EMBEDMENT IS 1 3/4° ” ”
SEE MANUFACTURES INSTRUCTIONS FOR S E ( : TI O N A
FOR_INSTALLATION o

8" x 6" x 3/8" BASE PLATE

i
]
i

DETAIL 6 DETAIL 1 SECTION "B”

1 %4' ID SCHEDULE 40
STAIR RAILNG — PRIME PAINTED]

(2) 3/8" BOLTS, FIELD DRLL. - 8 TREADS © 875"

PAINTED BAR GRATE
PAINTED BAR GRATE TREAD: ;

/7(4) 3 1/2" DIA, PRIME PANTED COLUNNS

NATIONAL (800) 92—WESCO

P.O. BOX 834, ANTIOCH, IL 60002—-9998
OFFICE: (414) 862-6799 FAX (414) 862-6980

Qﬁ FIRE FACILITIES INC.

A
TR
TR o
ey mECCCEAE I
TR I
g ey mECCCEAE T
P i i —
ey mECCCEAE up [T
A . i
17 x 17 X 1/8" PANTED ANGLE EXISTNG FRAMNG l? ey mECCCEAE iIiiII L1111
A ey mECCCEAE JITIFrT \1' x 1/8" PRME PAINTED BAR GRATE
TR T TYPICAL
s -
?:ERADG‘S‘A“NG TR
PRME PAINTED 1 e
N
PANTED STRINGER M
b ) DETAL 2
A38 STEEL o
PRIME PAINTED k
. uP °
DETAIL 11 DETAIL 3 $ g <
a4 - |
DETAL 1\ E
g | -
(2) 3/8" BOLTS, FELD DRILL. Lé-l
PANTED BAR GRATE / o
[%2]
PANTED BAR GRATE TREAD ; = 3 z
s 3-8 p 3/4 $ (@) 3 o~
. - . . 2 |
i PRIVE PANTED BAR GRATE. —] PRME PANTED STRINGER =6 1/ 48 3/¢ §‘ 8 5 Y S
4-0" BAR GRATING T § g g 8 t 8
1" x 1" X 1/8" PANTED ANGLE- ”, » 8 O x %d
S
- 6" x 4 x 5/16" ANGLE L SHAPED STAIR Date
MAY 14, 1999
Drawn b
¥ Y SPW
PANTED STRINGER ‘— — Checked by
Scale
SHOWN
Order No.

DETAIL 2 DETAIL 8 TS =T

)\22 of 23 p




STAIR STRINGER
A36 STEEL
PRIME PAINTED

3/8" DIA. CONCRETE ANCHOR

(ONE PER STRINGER) ICBO REPORT
4514 APPROVED ANCHOR MINIMUM
EMBEDMENT IS 1 3/4'

SEE MANUFACTURES INSTRUCTIONS FOR
FOR INSTALLATION

CONCRETE
N

DETAIL 1

1 1/4" ID SCHEDULE 40

STAIR RAILING — PRIME PAINVE)]

RisE 7 1/27!

STAIR STRINGER
A36 STEEL
PRIME PAINTED

DETAIL 3

(2) 3/8" BOLTS, FIELD DRILL.

/PAINE BAR GRATE

LI TTTTTTTITITT

PAINTED BAR GRATE TREAD

i i

_\—EXISTING FRAMING

17 x 17 X 1/8" PAINTED ANGLE.

‘——PAINTED STRINGER

DETAIL 11

4-7" BAR GRATE — PRIME PAINJED (

12'=1” FLOOR OPENING

DETAIL 11

T

BAR GRATING TREADS
PRIME PAINTED (TYP.)

DETAIL 11

DETAIL 11

FIELD DRILL HOLES IN CHANNEL

AND BOLT STAIR RISER TO CHANNEL FOURTH FLOOR

To1

1 1/4” SCHEDULE 40
HANDRAIL — PRIME PAINTED

STAIR STRINGER
PRIME PAINTED

LL HOLES IN CHANNEL
BOTTOM OF STAIR TO CHANNEL

STAIR STRINGER
PRIME PAINTED

SECOND_FLOOR

100"

16 RISERS @ 7 1/2"

[HIRD FLOOR

10°-0"

16 RISERS @ 7 1/2°

120"

120"

T 1

LL HOLES IN CHANNEL
BOTTOM OF STAIR TO CHANNEL

STAIR STRINGER
PRIME PAINTED

SROUND _FLOOR

10°—8"

126" (1ST FLOOR ONLY)

17 RISERS @ 7.41"

16 TREADS © 9 3/8" (+1 1/4") = 151 1/4" (1ST FLOOR ONLY) \_V

SECTION THRU STAIRS

15 TREADS @ 10" (+1 1/4") = 151 1/4" (TYPICAL) ‘

scale: N.T.S.

T
o
|
Lo}

17

FLOOR TOE ANGLE

INSTALL AROUND FLOOR OPENINGS

FINISHED FLOOR LINE —\ \

J |
o
FLOOR SUPPORT CHANNEL -

A\, SECTION THRU HANDRAIL
@ scale: 1 1/2" = 1'-0"

1” x 1/8” BAR GRATING
BAND BOTH ENDS
PRIME PAINTED

FOURTH FLOOR STAIR & RAILING PLAN

scale:  N.T.S.

| I

1 |
1" x 1/8” BAR GRATING
BAND BOTH ENDS
PRIME PAINTED

SECOND/THIRD FLOOR STAIR & RAILING PLAN

scale:  N.T.S.

N revisions by \

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

WRITTEN PERMISSION.

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

PROPERTY OF FIRE FACILITIES, INC.
OFFICE (414) 862-6799 FAX (414) 862-6980

P.0. BOX 834, ANTIOCH, ILLINOIS 60002-9998

NATIONAL (800) 92—WESCO

P.0. BOX 834, ANTIOCH, IL 60002—9998
OFFICE: (414) 862—-6799 FAX (414) B62-6980

Qﬁ FIRE FACILITIES INC.

d—
EI
|
Ll
o
S
(%]
3 E:
$ Q_ T
2 9=z3 |
8 ne = S
3 g n 0 S
Q = o) v
8 O x oL
S [
Date
MAY 14, 1999
Drawn b
4 SPW
Checked by
Scale
SHOWN
Order No.
FTE-34/9479
Sheet No.

A 23 of 25




